aa

* Spare parts for the professional sector: —

7] S I
Espresso coffee machines

Suitable for:

NUOVA SIMONELLI

This catalogue is automatically generated.
Therefore, the sequence of the items might
not be always shown at best.

Updates will be issued in case of additions
and/or amendments.

Suitable universal spare parts may not be included

Rel. 2017-08231525




Q;;& NUOVA SIMONELLI

BREW GROUP AURELIA/AURELIA I

AURELIA-AURELIA 11

NS0102

Positions without LF code no.: upon request




NUOVA SIMONELLI %’ﬁﬂ
@
LF code no. Description

1 1184006 LOW CYLINDER HEAD SCREW M4x12

2 1018507 FITTING CAP

3 1186401 O-RING 02093 EPDM

4 1439020 CAP g 1/4"M FOR BREW GROUP

9 1349032 COUPLING 3/8"M-3/8"M INSIDE M8
12 1120101 3-WAY SOLENOID VALVE PARKER 115V 50/60Hz
12 1120102 3-WAY SOLENOID VALVE LUCIFER 115V 60Hz
12 1120330 3-WAY SOLENOID VALVE LUCIFER 240V 50Hz
12 1120335 3-WAY SOLENOID VALVE PARKER 230V 50/60Hz
13 1120332 COIL LUCIFER/PARKER 220/240V 9W 50Hz
13 3120032 COIL PARKER ZB09 9W 220/240V 50/60Hz
14 1120334 3-WAY MECHANICAL COMPONENT LUCIFER
14 1120339 3-WAY MECHANICAL COMPONENT PARKER
15 1186610 RED SILICONE O-RING R5 GASKET
15 1186611 O-RING 02025 RED SILICONE
15 1186612 O-RING 02025 VITON
16 1186397 O RING GASKET OR 02300 EPDM
17 1326001 SHOWER HOLDER SPRAYER
18 1081026 SHOWER @ 56.5 mm
18 1081098 SHOWER SCREEN @ 57.5 mm
19 1186402 FILTER HOLDER GASKET @ 71x56x9 mm
19 1186701 FILTER HOLDER GASKET @ 71x56x9 mm
20 1528016 COUNTERSUNK FLAT HEAD SCREWS M6x16
21 1802001 FILTER-HOLDER COUPLING BELL
27 1160339 BLIND FILTER @ 70x17 mm
28 1160070 1 CUP FILTER 6 gr
29 1160071 2 CUPS FILTER 12 gr
30 1250101 FILTER BLOCKING SPRING @ 1,00 mm INOX
31 1165012 FILTER HOLDER SIMONELLI
32 1241027 FILTER HOLDER KNOB
33 1241026 RUBBER F. FILTER HOLDER HANDLE
34 1241031 STAIN.STEEL PIN F. FILTER HOLDER HANDLE
35 1241032 FILTER HOLDER KNOB CAP
36 1022501 SINGLE SPOUT ¢ 3/8"
37 1022502 DOUBLE SPOUT g 3/8"
38 1165045 1 CUP FILTER HOLDER ASSEMBLY SIMONELLI
39 1165055 2 CUPS FILTER HOLDER ASSEMBLY SIMONELLI
40 1160072 1 CUP FILTER 7 gr
41 1160053 2 CUPS FILTER 14 gr
42 1190001 PAPER SHIM g 73x59x0.8 mm
43 1190002 RUBBER SHIM g 73x59x1 mm EPDM
44 5035724 KNOB FILTER HOLDER M10 COMPLETE




\}\
% NUOVA SIMONELLI

BREW GROUP APPIA

NS0202

Positions without LF code no.: upon request




NUOVA SIMONELLI %’ﬁﬂ
@
Position LF code no. Description
1 1439022 CAP g 20 mm FOR BREW GROUP
2 1439023 BOILER CAP ¢ 3/8"M
3 1439020 CAP g 1/4"M FOR BREW GROUP
4 1349032 COUPLING 3/8"M-3/8"M INSIDE M8
7 1186610 RED SILICONE O-RING R5 GASKET
7 1186611 O-RING 02025 RED SILICONE
7 1186612 O-RING 02025 VITON
8 1184006 LOW CYLINDER HEAD SCREW M4x12
9 1120101 3-WAY SOLENOID VALVE PARKER 115V 50/60Hz
9 1120102 3-WAY SOLENOID VALVE LUCIFER 115V 60Hz
9 1120330 3-WAY SOLENOID VALVE LUCIFER 240V 50Hz
9 1120335 3-WAY SOLENOID VALVE PARKER 230V 50/60Hz
10 1120332 COIL LUCIFER/PARKER 220/240V 9W 50Hz
10 3120032 COIL PARKER ZB09 9W 220/240V 50/60Hz
11 1120334 3-WAY MECHANICAL COMPONENT LUCIFER
11 1120339 3-WAY MECHANICAL COMPONENT PARKER
20 1186400 FILTER HOLDER GASKET @ 71x56x8,2 mm
20 1186837 FILTER HOLDER GASKET @ 72x58x7 mm
20 1186838 FILTER HOLDER GASKET @ 72x58x7 mm
20 1486008 GASKET FOR FILTER HOLDER @ 72x58x7 mm
21 1326001 SHOWER HOLDER SPRAYER
22 1081026 SHOWER @ 56.5 mm
23 1528016 COUNTERSUNK FLAT HEAD SCREWS M6x16
24 1160339 BLIND FILTER @ 70x17 mm
25 1160070 1 CUP FILTER 6 gr
26 1160071 2 CUPS FILTER 12 gr
27 1250101 FILTER BLOCKING SPRING g 1,00 mm INOX
28 1165012 FILTER HOLDER SIMONELLI
29 1241027 FILTER HOLDER KNOB
30 1241026 RUBBERF. FILTER HOLDER HANDLE
31 1241031 STAIN.STEEL PIN F. FILTER HOLDER HANDLE
32 1241032 FILTER HOLDER KNOB CAP
33 1022501 SINGLE SPOUT g 3/8"
34 1022502 DOUBLE SPOUT ¢ 3/8"
35 1165045 1 CUP FILTER HOLDER ASSEMBLY SIMONELLI
36 1165055 2 CUPS FILTER HOLDER ASSEMBLY SIMONELLI
37 1160072 1 CUP FILTER 7 gr
38 1160053 2 CUPS FILTER 14 gr
39 1190001 PAPER SHIM g 73x59x0.8 mm
40 1190002 RUBBER SHIM g 73x59x1 mm EPDM
41 5035724 KNOB FILTER HOLDER M10 COMPLETE




%& NUOVA SIMONELLI

BREW GROUP PREMIER-MAXI-MAC2000

PREMIER
PREMIER MAXI
MAC 2000

NS0302

Positions without LF code no.: upon request




©on

NUOVA SIMONELLI

Position LF code no. Description
1 1349416 CAP FOR BREW GROUP
2 1186626 O-RING 0114 EPDM
3 1160566 STAINLESS STEEL WATER FILTER @ 8 mm
4 1500526 NOZZLE M10x1 HOLE @ 0.8 mm
5 1439020 CAP g 1/4"M FOR BREW GROUP
6 1439022 CAP g 20 mm FOR BREW GROUP
7 1349033 JET M8x1 HOLE @ 4.0 mm
8 1349032 COUPLING 3/8"M-3/8"M INSIDE M8
9 1349103 FITTING @ 3/8"M-3/8"M
10 1186611 O-RING 02025 RED SILICONE
10 1186612 O-RING 02025 VITON
11 1120101 3-WAY SOLENOID VALVE PARKER 115V 50/60Hz
11 1120102 3-WAY SOLENOID VALVE LUCIFER 115V 60Hz
11 1120330 3-WAY SOLENOID VALVE LUCIFER 240V 50Hz
11 1120335 3-WAY SOLENOID VALVE PARKER 230V 50/60Hz
12 1120332 COIL LUCIFER/PARKER 220/240V 9W 50Hz
12 3120032 COIL PARKER ZB09 9W 220/240V 50/60Hz
13 1120334 3-WAY MECHANICAL COMPONENT LUCIFER
13 1120339 3-WAY MECHANICAL COMPONENT PARKER
16 1186837 FILTER HOLDER GASKET @ 72x58x7 mm
16 1186838 FILTER HOLDER GASKET @ 72x58x7 mm
16 1486008 GASKET FOR FILTER HOLDER @ 72x58x7 mm
17 1326037 SHOWER HOLDER SPRAYER
18 1081026 SHOWER @ 56.5 mm
19 1528016 COUNTERSUNK FLAT HEAD SCREWS M6x16
20 1250101 FILTER BLOCKING SPRING g 1,00 mm INOX
21 1160339 BLIND FILTER @ 70x17 mm
22 1160070 1 CUP FILTER 6 gr
23 1160071 2 CUPS FILTER 12 gr
24 1165012 FILTER HOLDER SIMONELLI
25 1241023 FILTER HOLDER HANDLE
27 1022501 SINGLE SPOUT ¢ 3/8"
28 1022502 DOUBLE SPOUT g 3/8"
30 1190002 RUBBER SHIM g 73x59x1 mm EPDM
31 1190001 PAPER SHIM g 73x59x0.8 mm
33 1241505 KNOB FILTER HOLDER M10
34 1165012 FILTER HOLDER SIMONELLI
35 1022501 SINGLE SPOUT ¢ 3/8"
36 1022502 DOUBLE SPOUT g 3/8"
37 1241027 FILTER HOLDER KNOB
38 1241026 RUBBERF. FILTER HOLDER HANDLE
39 1241031 STAIN.STEEL PIN F. FILTER HOLDER HANDLE
40 1241032 FILTER HOLDER KNOB CAP
41 1160072 1 CUPFILTER 7 gr
42 1160053 2 CUPS FILTER 14 gr
43 1165045 1 CUP FILTER HOLDER ASSEMBLY SIMONELLI
44 1165055 2 CUPS FILTER HOLDER ASSEMBLY SIMONELLI
45 1384001 BRUSH FOR COFFEE SHOWER
46 1384003 BLACK SHOWER CLEANING BRUSH
47 1069002 STAINLESS STEEL MEASURING SPOON 20 ml
48 1069001 PLASTIC MEASURING SPOON 20 ml
49 1385002 NYLON COFFEE TAMPER @ 50/57 mm
50 1385053 ANODIZED ALUMINIUM TAMPER @ 58 mm
51 1385600 DYNAMOMETRIC MANUAL COFFEE TAMPER @ 57mm
51 1385602 TAMPER MANUAL DYNAMOMETRICAL @ 57 mm
52 5035724 KNOB FILTER HOLDER M10 COMPLETE




\}\ 9l
% NUOVA SIMONELLI

BREW GROUP PROGRAM-MACC-PERSONAL

PROGRAM VIP - MAC CUP - PERSONAL

MAC CUP 1 GR

I-.\‘ p / , 3 S o
12gr 14gr
50
51

Positions without LF code no.: upon request




©on

NUOVA SIMONELLI

Position LF code no. Description
1 1160566 STAINLESS STEEL WATER FILTER @ 8 mm
2 1501574 JET M6x6 LOCK @ 0.8 mm
2 1501578 NOZZLE M6x1 HOLE & 0,5 mm
3 1018507 FITTING CAP
4 1186401 O-RING 02093 EPDM
6 1186610 RED SILICONE O-RING R5 GASKET
6 1186611 O-RING 02025 RED SILICONE
6 1186612 O-RING 02025 VITON
7 1348035 NUT @ 1/8"
9 1349102 FITTING @ 1/4"M-1/4"M
10 1349032 COUPLING 3/8"M-3/8"M INSIDE M8
11 1349033 JET M8x1 HOLE @ 4.0 mm
12 1349103 FITTING @ 3/8"M-3/8"M
15 1523405 EXPANSION VALVE ¢ 1/4"M-1/4"M
17 1186546 COFFEE GROUP GASKET 100x30x3 mm
18 1349102 FITTING @ 1/4"M-1/4"M
20 1186547 FLAT CARBO GASKET @ 32x24x1.5 mm
21 1186548 FLAT CARBO GASKET @ 73x61.1x1.5 mm
22 1501576 BREW GROUP SPRAY NOZZLE
23 1326036 SHOWER HOLDER SPRAYER
24 1081026 SHOWER @ 56.5 mm
25 1528016 COUNTERSUNK FLAT HEAD SCREWS M6x16
26 1186837 FILTER HOLDER GASKET @ 72x58x7 mm
26 1186838 FILTER HOLDER GASKET g 72x58x7 mm
26 1486008 GASKET FOR FILTER HOLDER @ 72x58x7 mm
27 1160339 BLIND FILTER @ 70x17 mm
28 1160070 1 CUP FILTER 6 gr
29 1160071 2 CUPS FILTER 12 gr
30 1250101 FILTER BLOCKING SPRING g 1,00 mm INOX
31 1165012 FILTER HOLDER SIMONELLI
32 1241023 FILTER HOLDER HANDLE
34 1022501 SINGLE SPOUT ¢ 3/8"
35 1022502 DOUBLE SPOUT g 3/8"
36 1120101 3-WAY SOLENOID VALVE PARKER 115V 50/60Hz
36 1120102 3-WAY SOLENOID VALVE LUCIFER 115V 60Hz
36 1120330 3-WAY SOLENOID VALVE LUCIFER 240V 50Hz
36 1120335 3-WAY SOLENOID VALVE PARKER 230V 50/60Hz
37 1120332 COIL LUCIFER/PARKER 220/240V 9W 50Hz
37 3120032 COIL PARKER ZB09 9W 220/240V 50/60Hz
38 1120334 3-WAY MECHANICAL COMPONENT LUCIFER
38 1120339 3-WAY MECHANICAL COMPONENT PARKER
39 1241505 KNOB FILTER HOLDER M10
40 1165012 FILTER HOLDER SIMONELLI
41 1241027 FILTER HOLDER KNOB
42 1241026 RUBBER F. FILTER HOLDER HANDLE
43 1241031 STAIN.STEEL PIN F. FILTER HOLDER HANDLE
44 1241032 FILTER HOLDER KNOB CAP
45 1160072 1 CUP FILTER 7 gr
46 1160053 2 CUPS FILTER 14 gr
47 1165055 2 CUPS FILTER HOLDER ASSEMBLY SIMONELLI
48 1165045 1 CUP FILTER HOLDER ASSEMBLY SIMONELLI
49 1190001 PAPER SHIM g 73x59x0.8 mm
50 1190002 RUBBER SHIM g 73x59x1 mm EPDM
51 5035724 KNOB FILTER HOLDER M10 COMPLETE




% NUOVA SIMONELLI

BREW GROUP OPTIMA-ISX

OPTIMA - ISXE - ISXV ISX - ISXM

NS0502

Positions without LF code no.: upon request




NUOVA SIMONELLI %’ﬁﬂ
@
Position LF code no. Description
1 1160566 STAINLESS STEEL WATER FILTER @ 8 mm
2 1501574 JET M6x6 LOCK @ 0.8 mm
3 1018507 FITTING CAP
4 1186401 O-RING 02093 EPDM
6 1186610 RED SILICONE O-RING R5 GASKET
6 1186611 O-RING 02025 RED SILICONE
6 1186612 O-RING 02025 VITON
7 1348035 NUT o 1/8"
8 1120101 3-WAY SOLENOID VALVE PARKER 115V 50/60Hz
8 1120102 3-WAY SOLENOID VALVE LUCIFER 115V 60Hz
8 1120330 3-WAY SOLENOID VALVE LUCIFER 240V 50Hz
8 1120335 3-WAY SOLENOID VALVE PARKER 230V 50/60Hz
9 1120332 COIL LUCIFER/PARKER 220/240V 9W 50Hz
9 3120032 COIL PARKER ZB09 9W 220/240V 50/60Hz
10 1120334 3-WAY MECHANICAL COMPONENT LUCIFER
10 1120339 3-WAY MECHANICAL COMPONENT PARKER
11 1184006 LOW CYLINDER HEAD SCREW M4x12
12 1186546 COFFEE GROUP GASKET 100x30x3 mm
13 1250531 SPRING @ 11.5x25 mm
17 1186171 ROUND COPPER GASKET @ 22x16.5x2.2 mm
18 3243009 O-RING GASKET 0106 EPDM
21 1186547 FLAT CARBO GASKET @ 32x24x1.5 mm
22 1186548 FLAT CARBO GASKET @ 73x61.1x1.5 mm
23 1501576 BREW GROUP SPRAY NOZZLE
24 1326036 SHOWER HOLDER SPRAYER
25 1081026 SHOWER @ 56.5 mm
26 1528016 COUNTERSUNK FLAT HEAD SCREWS M6x16
27 1186836 FILTER HOLDER GASKET g 72x58x4.5 mm
27 1186837 FILTER HOLDER GASKET @ 72x58x7 mm
27 1186838 FILTER HOLDER GASKET g 72x58x7 mm
27 1486008 GASKET FOR FILTER HOLDER @ 72x58x7 mm
28 1190051 PAPER SEAL g 70x57x0.8 mm
29 1160339 BLIND FILTER @ 70x17 mm
30 1250101 FILTER BLOCKING SPRING @ 1,00 mm INOX
31 1160070 1 CUP FILTER 6 gr
32 1160071 2 CUPS FILTER 12 gr
33 1160072 1 CUP FILTER 7 gr
34 1160053 2 CUPS FILTER 14 gr
35 1165012 FILTER HOLDER SIMONELLI
36 1241505 KNOB FILTER HOLDER M10
37 1022501 SINGLE SPOUT g 3/8"
37 1022503 STRAIGHT SINGLE SPOUT g 3/8"
38 1022502 DOUBLE SPOUT g 3/8"




%/ % NUOVA SIMONELLI

BREW GROUP AND MISCELLANEAOUS OSCAR

NS0602

Positions without LF code no.: upon request




NUOVA SIMONELLI %’ﬁﬂ
@
Position LF code no. Description
1 1449682 SILICONE HOSE @ 5x8 SHORE 60 - 10 m
5 1120101 3-WAY SOLENOID VALVE PARKER 115V 50/60Hz
5 1120102 3-WAY SOLENOID VALVE LUCIFER 115V 60Hz
5 1120330 3-WAY SOLENOID VALVE LUCIFER 240V 50Hz
5 1120335 3-WAY SOLENOID VALVE PARKER 230V 50/60Hz
6 1186400 FILTER HOLDER GASKET @ 71x56x8,2 mm
6 1186837 FILTER HOLDER GASKET @ 72x58x7 mm
6 1186838 FILTER HOLDER GASKET g 72x58x7 mm
6 1486008 GASKET FOR FILTER HOLDER @ 72x58x7 mm
7 1326037 SHOWER HOLDER SPRAYER
8 1081026 SHOWER @ 56.5 mm
9 1528016 COUNTERSUNK FLAT HEAD SCREWS M6x16
10 1160339 BLIND FILTER @ 70x17 mm
11 1160071 2 CUPS FILTER 12 gr
12 1160070 1 CUP FILTER 6 gr
13 1250101 FILTER BLOCKING SPRING @ 1,00 mm INOX
14 1165012 FILTER HOLDER SIMONELLI
15 1241023 FILTER HOLDER HANDLE
17 1022501 SINGLE SPOUT g 3/8"
18 1022502 DOUBLE SPOUT g 3/8"
19 1221004 RED PILOT LIGHT 230V
20 1319092 BIPOLAR SWITCH 16A 250V
21 1341004 LEVEL REGULATOR RL30/2S/3R 230V
22 1080161 WATER CONTAINER 2 L
31 5027943 COMPLETE STEAM TAP
32 1349031 COUPLING 3/8" g SPRING HOLDER
33 3243086 O-RING 0117 EPDM
34 1250531 SPRING @ 11.5x25 mm
35 1321601 COMPLETE GASKET HOLDER FOR TAP
38 1186514 O-RING 02015 SILICON
40 1250019 SPRING @ 12x16.5 mm
42 3243086 O-RING 0117 EPDM
43 1186805 O-RING 0115 EPDM
45 1349516 NUT ¢ 3/8"F FOR WATER/STEAM PIPE
48 1186398 BURN PREVENTING PIPE HANDGRIP g 8 mm
49 1241505 KNOB FILTER HOLDER M10
50 1120040 2-WAY SOLENOID VALVE CEME g 1/4" 230V
51 1160053 2 CUPS FILTER 14 gr
52 1160072 1 CUP FILTER 7 gr




Q;;& NUOVA SIMONELLI

BREW GROUP MUSICA

MUSICA

24 25 26 27

NS0702

Positions without LF code no.: upon request




Py

NUOVA SIMONELLI w3
GroUD,
Position LF code no. Description
1 1449282 SILICONE HOSE @ 5x8 SHORE 60 - 100 m
1 1449682 SILICONE HOSE @ 5x8 SHORE 60 - 10 m
2 3449404 DOUBLE-WIRE CLAMP 8.8-9.3 - 100 PCS
3 5036751 EXPANSION VALVE g 1/8"M - 8 mm
7 1184006 LOW CYLINDER HEAD SCREW M4x12
8 1120101 3-WAY SOLENOID VALVE PARKER 115V 50/60Hz
8 1120335 3-WAY SOLENOID VALVE PARKER 230V 50/60Hz
9 3449404 DOUBLE-WIRE CLAMP 8.8-9.3 - 100 PCS
10 1449282 SILICONE HOSE @ 5x8 SHORE 60 - 100 m
10 1449682 SILICONE HOSE @ 5x8 SHORE 60 - 10 m
12 1165012 FILTER HOLDER SIMONELLI
13 1326037 SHOWER HOLDER SPRAYER
14 1081026 SHOWER @ 56.5 mm
15 1528016 COUNTERSUNK FLAT HEAD SCREWS M6x16
16 1160339 BLIND FILTER @ 70x17 mm
17 1160053 2 CUPS FILTER 14 gr
18 1160072 1 CUP FILTER 7 gr
19 1250101 FILTER BLOCKING SPRING g 1,00 mm INOX
20 1165012 FILTER HOLDER SIMONELLI
21 1022524 DOUBLE SPOUT g 3/8"
22 1022501 SINGLE SPOUT g 3/8"
23 1022502 DOUBLE SPOUT g 3/8"
24 1241027 FILTER HOLDER KNOB
25 1241026 RUBBER F. FILTER HOLDER HANDLE
26 1241031 STAIN.STEEL PIN F. FILTER HOLDER HANDLE
27 1241032 FILTER HOLDER KNOB CAP
28 5035724 KNOB FILTER HOLDER M10 COMPLETE




% NUOVA SIMONELLI

STEAM-WATER TAP AURELIA-APPIA

AURELIA - APPIA

AURELIA

29
E 37
(=]
2318 2 o
; 17— .8 APPIA 2 -3 GR
21 @*:—2‘3 19—t el
20—
33 30 Q
L=
-
O
[~
23— 32
AURELIA @—
AFPIA
NS1002
Positions without LF code no.: upon request



Py

NUOVA SIMONELLI w3
GroUD,
Position LF code no. Description
1 1241025 WATER/STEAM TAP KNOB
2 1250023 RADIAL SEEGER RING @ 5 mm
3 1324069 STEAM TAP PIN
4 1348040 TAP FORK
5 1324073 TAP STAINLESS STEEL PIN
6 1186514 O-RING 02015 SILICON
7 1184006 LOW CYLINDER HEAD SCREW M4x12
8 1348038 TAP BODY
9 1321601 COMPLETE GASKET HOLDER FOR TAP
10 1186487 SILICONE FLAT GASKET @ 12x4.5x4 mm
11 1250531 SPRING g 11.5x25 mm
12 3243086 O-RING 0117 EPDM
13 1349031 COUPLING 3/8" @ SPRING HOLDER
14 1186399 WASHER FLAT M16
15 1348036 NUT g 3/8" WRENCH 21x6mm
17 1250019 SPRING @ 12x16.5 mm
18 1186988 STEAM TAP JOINT BUSHING
19 1186805 O-RING 0115 EPDM
21 1349516 NUT o 3/8"F FOR WATER/STEAM PIPE
22 1449869 STEAM PIPE COMPLETE
23 1449065 NOZZLE FOR STEAM OUTLET /STAINLESS STEEL
30 1449032 COMPLETE WATER PIPE
31 1449036 NOZZLE FOR WATER
33 1348061 COMPLETE STEAM TAP RH-LH
33 1348261 TAP WATER/STEAM




\}w
_@%& NUOVA SIMONELLI

STEAM-WATER TAP AURELIA I

AURELIA Il

L=l

r

NS1102

Positions without LF code no.: upon request




NUOVA SIMONELLI ~5 0
GroUD, 4
Position LF code no. Description
1 1241025 WATER/STEAM TAP KNOB
2 1324069 STEAM TAP PIN
3 1348040 TAP FORK
4 1324073 TAP STAINLESS STEEL PIN
5 1186514 O-RING 02015 SILICON
7 1321601 COMPLETE GASKET HOLDER FOR TAP
8 1250531 SPRING @ 11.5x25 mm
9 3243086 O-RING 0117 EPDM
10 1348036 NUT @ 3/8" WRENCH 21x6mm
11 1186399 WASHER FLAT M16
12 1349031 COUPLING 3/8" @ SPRING HOLDER
13 1184006 LOW CYLINDER HEAD SCREW M4x12
14 1250023 RADIAL SEEGER RING g 5 mm
15 1186165 O-RING GASKET M 0160-20 EPDM
16 1250019 SPRING @ 12x16.5 mm
17 1186988 STEAM TAP JOINT BUSHING
18 1786260 GASKET ORM 0102-25 PTFE
20 5030025 BURN PREVENTING RUBBERP.F/PIPE g 10 mm
21 5034069 GASKET ORM 0059-12 EPDM
22 1449065 NOZZLE FOR STEAM OUTLET /STAINLESS STEEL
23 5051782 ST.STEEL STEAM NOZZLE 8.5 mm ¢ 1.2 mm
24 1549027 COMPLETE STAIN.STEEL STEAM PIPE @ 10 mm
27 1348036 NUT g 3/8" WRENCH 21x6mm
28 1186399 WASHER FLAT M16
30 1186165 O-RING GASKET M 0160-20 EPDM
31 1250019 SPRING @ 12x16.5 mm
32 1186988 STEAM TAP JOINT BUSHING
33 1186805 O-RING 0115 EPDM
35 1449036 NOZZLE FOR WATER
36 1449032 COMPLETE WATER PIPE
36 1549004 COMPLETE WATER PIPE
38 5034069 GASKET ORM 0059-12 EPDM




NUOVA SIMONELLI

STEAM-WATER TAP PREMIER-MAC

24 PREMIER SX £}

25 PREMIER DX {1y

26 PREMIER %

27 MAC 2000 - MAC CUP SX 1Y
28 MAC 2000 - MAC CUP 2

ﬁ'-—ﬂ

32 PREMIER MAXI
PREMIER ==

33 MAC 2000 - MAC CUP
PROGRAM VIP 22z

PREMIER MAC 2000 PREMIER % PREMIER
PREMIER MAXI MAC CUP ! “;'I PREMIER MAXI
f' L | 31
— 283 22— ‘ 1 [-~— 23
| & | |
. PROGRAM VIP
~ Ij = MAC 2000 - MAC CUP
49 MAC 2000 - PROGRAM VIP - PREMIER MAXI {1y PROGRAM VIP | PREMIER MAXI
50 PREMIER MAX| &= MAC 2000
MAC CUP
13- =
41 -
42 = |10
43 ".L'T'
44 -
48 4?—-i
| L
ol / I||
= aul
- | N
i Ly =
NS1202

Positions without LF code no.: upon request




NUOVA SIMONELLI %’ﬁﬂ
@
Position LF code no. Description
3 1250023 RADIAL SEEGER RING g 5 mm
4 1324069 STEAM TAP PIN
5 1348040 TAP FORK
6 1324021 TAP CONTROL SPINDLE
7 1186514 O-RING 02015 SILICON
8 1348036 NUT @ 3/8" WRENCH 21x6mm
10 1321601 COMPLETE GASKET HOLDER FOR TAP
11 1186487 SILICONE FLAT GASKET g 12x4.5x4 mm
12 1250531 SPRING @ 11.5x25 mm
13 3243086 O-RING 0117 EPDM
14 1349031 COUPLING 3/8" @ SPRING HOLDER
15 1324022 PIPE ARTICULATION PIN
16 1186422 O-RING 0108 EPDM
17 1250532 ARTICULATION SPRING 20.4x15.9x16.5 mm
18 1186610 RED SILICONE O-RING R5 GASKET
19 1324064 SPRING PIN
20 1449866 STEAM PIPE COMPLETE
21 1383001 STEAM NOZZLE
23 1449210 COMPLETE WATER PIPE
31 1449868 COMPLEYE S/STEEL WATER PIPE @ 10 mm
34 1241548 WATER/STEAM TAP KNOB
35 1348040 TAP FORK
36 1324073 TAP STAINLESS STEEL PIN
37 1186514 O-RING 02015 SILICON
38 1348038 TAP BODY
39 1184006 LOW CYLINDER HEAD SCREW M4x12
40 1349516 NUT ¢ 3/8"F FOR WATER/STEAM PIPE
43 1186805 O-RING 0115 EPDM
45 1449033 STEAM PIPE COMPLETE
46 1383002 STEAM NOZZLE
47 1449034 WATER PIPE
48 1449869 STEAM PIPE COMPLETE
49 1348261 TAP WATER/STEAM
49 1348364 STEAM TAP ASSEMBLY
50 1348261 TAP WATER/STEAM




NUOVA SIMONELLI

STEAM-WATER TAP OPTIMA

OPTIMA

16 | -
&
’ -~ 30
@
/ -

- 28

NS1302

Positions without LF code no.: upon request




NUOVA SIMONELLI w3
GroUD,
Position LF code no. Description

4 1241030 WATER/STEAM TAP KNOB

5 1348036 NUT @ 3/8" WRENCH 21x6mm

7 1186514 O-RING 02015 SILICON

9 1186487 SILICONE FLAT GASKET g 12x4.5x4 mm
10 1321601 COMPLETE GASKET HOLDER FOR TAP
11 1250531 SPRING @ 11.5x25 mm
15 1528643 SCREWS NO HEAD WITH HEX. SOCKET M6x20
17 1324072 TAP CONTROL PIN
18 1186610 RED SILICONE O-RING R5 GASKET
20 1348036 NUT @ 3/8" WRENCH 21x6mm
22 3243086 O-RING 0117 EPDM
23 1349030 COUPLING g 3/8"M-1/4"M SPRING HOLDER
24 1324022 PIPE ARTICULATION PIN
25 1186610 RED SILICONE O-RING R5 GASKET
26 1250532 ARTICULATION SPRING 20.4x15.9x16.5 mm
27 1324064 SPRING PIN
28 1449866 STEAM PIPE COMPLETE
29 1383001 STEAM NOZZLE
30 1449210 COMPLETE WATER PIPE




\
% NUOVA SIMONELLI

LEVELS
AURELIA APPIA 1 GR APPIA 2 - 3 GR
NELIA I
8
-2 | Q-2
@/— ) @/_

|

DL
|
' %\?@ -

L8]
18]

4
4
® O
21
PREMIER
PREMIER MAXI
PROGRAM VIP
MAC 2000 - MAC CUP | | ELLI
PERSONAL OPTIMA PROGRAM VIP

NS2002

Positions without LF code no.: upon request




) NUOVA SIMONELLI w3
GroUD,
Position LF code no. Description
2 1348036 NUT @ 3/8" WRENCH 21x6mm
3 1186626 O-RING 0114 EPDM
4 1201100 LEVEL GLASS ASSEMBLY
5 1520518 LEVEL GLASS @ 12x112 mm
6 1349029 LEVEL FITTING WITH O-RING HOUSING
15 1120153 2-WAY SOLENOID VALVE PARKER 110V 50/60Hz
15 1120354 2-WAY SOLENOID VALVE PARKER 230V 50/60Hz
16 1120471 2-WAY SOLENOID VALVE CEME g 1/4" 230V
18 1449710 FLEX HOSE @ 3/8" Fp x Fc 300 mm
19 1523534 BOILER VALVE @ 1/4"M
19 1523537 BOILER VALVE @ 1/4"M
20 1186619 COPPER FLAT GASKET @ 18x14x1.5 mm
21 1348036 NUT g 3/8" WRENCH 21x6mm
22 1186626 O-RING 0114 EPDM
23 1186221 FLAT EPDM GASKET @ 19x11.5x10 mm
24 1520516 LEVEL GLASS @ 12x135 mm




NUOVA SIMONELLI SLE
GroUp,
MISCELLANEOUS PREMIER-MASTER-PROGRAM-MAC
MASTER MASTER
30 —*@ PREMIER - PHEMIEAKI
PROGRAM VIP - MASTER
MAC 2000 - MAC CUP
APPIA - AURELIA
NS2202

Positions without LF code no.: upon request




NUOVA SIMONELLI w3
Position LF code no. Description

1 1443006 CONTACT THERMOSTAT 55°C 16A 250V
12 3351004 POWER RELAY FINDER 56.32.8.230.0040
16 1245503 BOILER-PUMP PRESSURE GAUGE @ 60 mm
17 1320531 PRESSURE SWITCH P302/6 3-POLES 30A
18 1240006 MICROSWITCH ELECTRICA C60ZN
19 1185722 CUP WARMING GRILL
24 1241912 SELECTOR SWITCH KNOB
30 1313516 FOOT @ 48x40 mm M10




%& NUOVA SIMONELLI

HYDRAULIC COMPONENTS AURELIA-AURELIA 1l

AURELIA-AURELIA 11

910111213 14

32-

‘W 33 3|4 3|5 3|l3 37

41-

38 39 40

42 43 44 45 46

NS2502

Positions without LF code no.: upon request




NUOVA SIMONELLI ~5 0
GroUD, 4
Position LF code no. Description
3 1786259 BLIND GASKET @ 12x4 mm SILICONE
6 3243086 O-RING 0117 EPDM
7 1349030 COUPLING g 3/8"M-1/4"M SPRING HOLDER
8 1523405 EXPANSION VALVE g 1/4"M-1/4"M
10 1186626 O-RING 0114 EPDM
11 1523064 NON-RETURN VALVE
13 1349102 FITTING @ 1/4"M-1/4"M
14 3526699 BALL VALVE ¢ 1/4" MF
15 1449038 HYDRAULIC PIPE FOR DRAIN TANK
16 1349102 FITTING @ 1/4"M-1/4"M
17 1186626 O-RING 0114 EPDM
21 1186626 O-RING 0114 EPDM
22 1523064 NON-RETURN VALVE
24 3526699 BALL VALVE ¢ 1/4" MF
28 5019507 HOSE FLEX g 1/4" FcxFc 320 mm
31 1527036 DRAIN TUB
33 1455067 VOLUMETRIC FLOW METER GICAR
34 1186626 O-RING 0114 EPDM
35 5050997 GAS FITTING @1/4 "M-1/4"M - INTERNAL M8
36 1349074 JET M8x1 HOLE @ 0.5 mm
36 1349075 JET M8x1 HOLE @ 0.8 mm
39 1186626 O-RING 0114 EPDM
40 5062765
43 5062765
44 1349074 JET M8x1 HOLE @ 0.5 mm
44 1349075 JET M8x1 HOLE @ 0.8 mm
45 1160566 STAINLESS STEEL WATER FILTER @ 8 mm
46 1186610 RED SILICONE O-RING R5 GASKET




%& NUOVA SIMONELLI

HYDRAULIC COMPONENTS APPIA

APPIA

1516 1718192021 2223 24

2526

~—33 32 34 35 36 37 38

NS2602

Positions without LF code no.: upon request




Py

NUOVA SIMONELLI w3
GroUD,
Position LF code no. Description

3 1527036 DRAIN TUB

4 5019507 HOSE FLEX @ 1/4" FcxFc 320 mm

6 1349102 FITTING @ 1/4"M-1/4"M

7 1186626 O-RING 0114 EPDM

9 1186626 O-RING 0114 EPDM
10 1349102 FITTING @ 1/4"M-1/4"M
11 3526699 BALL VALVE ¢ 1/4" MF
12 1186626 O-RING 0114 EPDM
13 1349102 FITTING @ 1/4"M-1/4"M
15 3526699 BALL VALVE @ 1/4" MF
16 1449038 HYDRAULIC PIPE FOR DRAIN TANK
19 1523064 NON-RETURN VALVE
20 1186626 O-RING 0114 EPDM
27 5036751 EXPANSION VALVE @ 1/8"M - 8 mm
28 1523064 NON-RETURN VALVE
29 1186626 O-RING 0114 EPDM
32 1455067 VOLUMETRIC FLOW METER GICAR
34 1186626 O-RING 0114 EPDM
35 5050997 GAS FITTING @1/4 "M-1/4"M - INTERNAL M8
37 1349102 FITTING @ 1/4"M-1/4"M
38 1349075 JET M8x1 HOLE @ 0.8 mm




% NUOVA SIMONELLI

HYDRAULIC COMPONENTS PROGRAM-PREMIER-MAC

PROGRAM VIP
MAC CUP
MAC 2000

MAC CUP

NS2702

Positions without LF code no.: upon request




) NUOVA SIMONELLI w3
GroUD,
Position LF code no. Description

1 1523405 EXPANSION VALVE g 1/4"M-1/4"M
5 3243086 O-RING 0117 EPDM
6 1349030 COUPLING g 3/8"M-1/4"M SPRING HOLDER
8 1527526 DRAIN TUB

11 1348036 NUT g 3/8" WRENCH 21x6mm

13 1523007 NON-RETURN VALVE g 1/4"M-1/4"M

16 1449038 HYDRAULIC PIPE FOR DRAIN TANK

23 3526699 BALL VALVE ¢ 1/4" MF

26 1186619 COPPER FLAT GASKET @ 18x14x1.5 mm

37 1455068 VOLUMETRIC FLOW METER GICAR

38 1527526 DRAIN TUB

39 1527526 DRAIN TUB




\}\
@ﬁ; NUOVA SIMONELLI

BOILER AURELIA-AURELIA II-APPIA

AURELIA-AURELIA II- APPIA

28 29

NS3002

Positions without LF code no.: upon request




NUOVA SIMONELLI w3
GroUD,
Position LF code no. Description

3 1349034 BOILER COUPLING

4 1349504 NUT @ 1/2" KEY 25x6 mm

5 3243086 O-RING 0117 EPDM

7 1320531 PRESSURE SWITCH P302/6 3-POLES 30A
11 5064550
14 3243086 O-RING 0117 EPDM
15 1349504 NUT g 1/2" KEY 25x6 mm
16 1349034 BOILER COUPLING
17 1186610 RED SILICONE O-RING R5 GASKET
19 1439020 CAP ¢ 1/4"M FOR BREW GROUP
20 1341013 LEVEL PROBE @ 1/4"M-130 mm
21 3528088 HEXAGON HEAD SCREW M8x20
22 1444535 CONTACT THERMOSTAT 135°C 16A 250V
24 1397001 TEMPERATURE PROBE NTC
25 1186638 FLAT CARBO GASKET @ 67x55x3 mm
26 1755141 HEATING ELEMENT 4500W 220/380V
26 1755142 HEATING ELEMENT 3000W 220/380V
26 1755143 HEATING ELEMENT 5000W 220V
28 1320531 PRESSURE SWITCH P302/6 3-POLES 30A




o
w
4 | o =
D | :
z |
O_m s
= | o
“ |3
L | S
S | &
a
9 |2
<
L | x
w
—
m e

PREMIER MAXI

PREMIER
PREMIER
PREMIER

NS3102

Positions without LF code no.: upon request




Py

NUOVA SIMONELLI w3
GroUD,
Position LF code no. Description

1 3341011 LEVEL PROBE @ 1/4"M-140 mm

2 1444535 CONTACT THERMOSTAT 135°C 16A 250V

3 1186409 FLAT PTFE GASKET @ 68x55x3 mm

3 1186638 FLAT CARBO GASKET g 67x55x3 mm

4 1755140 HEATING ELEMENT 2700W 220V

4 1755141 HEATING ELEMENT 4500W 220/380V

8 1241912 SELECTOR SWITCH KNOB

9 1319045 SELECTOR SWITCH 0-1 POSITIONS 32A 600V
10 1320531 PRESSURE SWITCH P302/6 3-POLES 30A
10 1320533 MEMBRANE KIT FOR PRESSURE SWITCH
10 1320541 PRESSURE SWITCH PARKER
11 1341305 LEVEL REGULATOR RL30/1E/2C/8 230/240V
12 3351154 BASE OCTAL ES8 10A 400V
15 1390101 CIRCUIT BOARD 6 BUTTONS
20 3319420 BIPOLAR SWITCH RED 16A 250V
26 3319019 BIPOLAR SWITCH RED 16A 250V
34 3526704 BALL VALVE ¢ 3/8"MF
41 1245503 BOILER-PUMP PRESSURE GAUGE @ 60 mm
42 1523534 BOILER VALVE @ 1/4"M
42 1523537 BOILER VALVE @ 1/4"M
48 1449037 INJECTOR PIPE M8
49 3243086 O-RING 0117 EPDM
50 1349504 NUT g 1/2" KEY 25x6 mm
51 1349034 BOILER COUPLING
53 1523572 BOILER VALVE ¢ 3/8"M - 1.8 bar CE/PED




NUOVA SIMONELLI

BOILER AND PUSH BUTTONS PROGRAM-MAC
MAC 2000

3

APPIA - AURELIA
PROGRAM VIP

PROGRAM VIP
MAC 2000 14
MAC CUP @ MAC 2000/CUP
/’2 |
1 '.l-. kY
5 ".' "‘3

L
l,/TQ 15 %

PROGRAM VIP

MAC CUP

31

MAC 2000

7 @4

®. a5
. 44

44

NS3201

Positions without LF code no.: upon request



NUOVA SIMONELLI

SRV

Position LF code no. Description
1 3341011 LEVEL PROBE @ 1/4"M-140 mm
2 1444535 CONTACT THERMOSTAT 135°C 16A 250V
3 1755078 HEATING ELEMENT 1800W 230V
3 1755142 HEATING ELEMENT 3000W 220/380V
3 1755143 HEATING ELEMENT 5000W 220V
3 1755666 HEATING ELEMENT 1500W 110V
4 1186409 FLAT PTFE GASKET @ 68x55x3 mm
4 1186638 FLAT CARBO GASKET @ 67x55x3 mm
5 1120101 3-WAY SOLENOID VALVE PARKER 115V 50/60Hz
5 1120102 3-WAY SOLENOID VALVE LUCIFER 115V 60Hz
5 1120330 3-WAY SOLENOID VALVE LUCIFER 240V 50Hz
5 1120335 3-WAY SOLENOID VALVE PARKER 230V 50/60Hz
6 1320531 PRESSURE SWITCH P302/6 3-POLES 30A
6 1320533 MEMBRANE KIT FOR PRESSURE SWITCH
6 1320541 PRESSURE SWITCH PARKER
7 1455068 VOLUMETRIC FLOW METER GICAR
10 1120153 2-WAY SOLENOID VALVE PARKER 110V 50/60Hz
10 1120354 2-WAY SOLENOID VALVE PARKER 230V 50/60Hz
11 1319045 SELECTOR SWITCH 0-1 POSITIONS 32A 600V
13 1527526 DRAIN TUB
14 1341305 LEVEL REGULATOR RL30/1E/2C/8 230/240V
22 1390101 CIRCUIT BOARD 6 BUTTONS
34 3319019 BIPOLAR SWITCH RED 16A 250V
35 3221013 INDICATOR LAMP RED 230V
38 3319420 BIPOLAR SWITCH RED 16A 250V
40 1221202 RED INDICATOR LAMP 250V
44 3319420 BIPOLAR SWITCH RED 16A 250V

45 1221202 RED INDICATOR LAMP 250V




% NUOVA SIMONELLI

BOILER OSCAR-MASTER

OSCAR

MASTER

NS3302

Positions without LF code no.: upon request




) NUOVA SIMONELLI w3
GroUD,
Position LF code no. Description
2 1349102 FITTING @ 1/4"M-1/4"M
18 1320001 PRESSURE SWITCH 1,4 BAR 16A 250V 1/4"
20 1444535 CONTACT THERMOSTAT 135°C 16A 250V
21 1755033 HEATING ELEMENT 1200W 230V
21 1755667 HEATING ELEMENT 1200W 110V
22 1186403 GREEN VITON O-RING 04137
23 1755029 HEATING ELEMENT 1800W 230V
23 1755030 HEATING ELEMENT 2300W 230V
28 1523572 BOILER VALVE @ 3/8"M - 1.8 bar CE/PED
30 1455068 VOLUMETRIC FLOW METER GICAR
32 1523534 BOILER VALVE @ 1/4"M
32 1523537 BOILER VALVE g 1/4"M
34 1523405 EXPANSION VALVE @ 1/4"M-1/4"M
37 1120321 3-WAY SOLENOID VALVE PARKER 230V 50/60Hz
43 1523007 NON-RETURN VALVE g 1/4"M-1/4"M
44 1120471 2-WAY SOLENOID VALVE CEME g 1/4" 230V




y
% NUOVA SIMONELLI

BOILER JAZZ-MICROBAR

JAZZ

MICROBAR

Positions without LF code no.: upon request




) NUOVA SIMONELLI w3
GroUD,
Position LF code no. Description

1 1444535 CONTACT THERMOSTAT 135°C 16A 250V
2 3341011 LEVEL PROBE @ 1/4"M-140 mm
3 1120012 2-WAY SOLENOID VALVE ODE ¢ 1/8" 230V 5W
3 1120238 2-WAY SOLENOID VALVE CEME g 1/8"F 120V
7 1186405 RED SILICONE O RING 03281

13 1755023 HEATING ELEMENT 1000W 230V

14 1186404 PTFE FLAT GASKET g 18x13x2 mm

15 1443055 CONTACT THERMOSTAT 125°C 16A 250V

17 1523065 EXPANSION VALVE g 1/8"M-7 mm

18 1397024 TEMPERATURE PROBE

21 1186805 O-RING 0115 EPDM

23 1528511 HEXAGON HEAD SCREW M5x25

24 5032820 VOLUMETRIC FLOW METER GICAR NSF

25 1080169 WATER CONTAINER 5 L WITH FLOAT

31 5020858 SOLENOID VALVE CEME 3 WAYS g 1/8" 230V

32 1349653 HOSE-END FITTING @ 1/8"M @ 6 NICKEL




y
% NUOVA SIMONELLI

ELECTRICAL COMPONENTS AND MOTOR APPIA

APPIA

- s ﬁgrg
Tﬂ‘ r
I— HL D 34 {cgmpact}

O OO0 Ooodd I [ | O

(Jooo  C N 3 ‘

27282930 31 32

{1l

Q)

Positions without LF code no.: upon request




SRV

NUOVA SIMONELLI

Position LF code no. Description
1 5032628 DOSER CONTROL BOX 2 GROUPS "V"
2 5054990 3-GROUPS ELECTRONIC CIRCUIT BOARD CPU
3 5052176 CABLE FLAT 14 POLES 1250 mm
4 5032626 PUSH-BUTTON PANEL 3 BUTTONS SERVICES
5 5032627 PUSH-BUTTON PANEL 5 BUTTONS DELIVERY
6 5047809 CONTROL PANEL GRAY
7 1341305 LEVEL REGULATOR RL30/1E/2C/8 230/240V
8 3221013 INDICATOR LAMP RED 230V
9 3319019 BIPOLAR SWITCH RED 16A 250V
11 1319392 BLACK BIPOLAR SWITCH 10A 250V
12 3446561 CONTACTOR LOVATO BF0910A
13 1240065 MOTOR RPM WITH CLAMP 120W
14 1330001 ROTARY VANE PUMP ROTOFLOW g 3/8" NPT
15 1349112 FITTING @ 1/4"M-3/8"M
18 3526704 BALL VALVE ¢ 3/8"MF
19 3349317 ELBOW FITTING 1/4"M g 6/4 NICKEL
20 1349702 "T"FITTING @ 1/4"F-1/4"F-1/4"M NICKEL-P
22 1349244 "T" FITTING @ 1/4"M-1/4"M-1/4"F
24 1349706 L-FITTING & 3/8"M-3/8"M NICKEL-PLATED
25 1348035 NUT @ 1/8"
26 1245503 BOILER-PUMP PRESSURE GAUGE @ 60 mm
27 1523572 BOILER VALVE ¢ 3/8"M - 1.8 bar CE/PED
29 1349240 "T" FITTING o 3/8"M-3/8"F-3/8"M
30 1523534 BOILER VALVE g 1/4"M
31 1349132 FITTING @ 3/8"M-1/4"F
33 5029454 CPU CIRCUIT BOARD 1 GROUP
34 5053783 DOSING CONTROL BOX 2 GROUPS 230V




(
3
% NUOVA SIMONELLI

ELECTRICAL COMPONENTS AND MOTOR AURELIA

AURELIA
22 —-U:n{mmm,]
2GRV 34 GRV
‘%% 1 Aiemieels (5 |
S A
34 GRS
E = |26
F‘m L]
28
S|
29
L J :‘j
.&E:GE{PL@EH 3/4 GRPLUS
30—~ g ._fm =4 ﬂ”wsw
| M ==
18— | L] W

52 53 54 55 56 57

&

NS4102

Positions without LF code no.: upon request



NUOVA SIMONELLI w3
GroUD,
Position LF code no. Description
13 5031554 PUSH-BUTTON PANEL 5 BUTTONS
19 5041947 PUSH-BUTTON PANEL 5 BUTTONS
20 5048198 BUTTON FOR PUSH-BUTTON PANEL
23 5054991 DOSER CONTROL BOX 2 GROUPS "V"
24 5049316 ELECTRONIC BOARD CPU 3-4 GROUPS
31 1390099 CPU ELECTRONIC CIRCUIT BOARD 3/4GR
32 1319392 BLACK BIPOLAR SWITCH 10A 250V
35 3446561 CONTACTOR LOVATO BF0910A
39 3068016 CAPACITOR DUCATI ENERGIA 10pF
40 1240282 MOTOR CLAMP RPM 165W
41 1330001 ROTARY VANE PUMP ROTOFLOW g 3/8" NPT
41 1330002 ROTARY VANE PUMP ROTOFLOW g 3/8" NPT
43 1349706 L-FITTING @ 3/8"M-3/8"M NICKEL-PLATED
45 3526704 BALL VALVE g 3/8"MF
46 1349112 FITTING @ 1/4"M-3/8"M
47 1349244 "T" FITTING @ 1/4"M-1/4"M-1/4"F
49 1349244 "T"FITTING g 1/4"M-1/4"M-1/4"F
50 1348035 NUT g 1/8"
51 1245503 BOILER-PUMP PRESSURE GAUGE @ 60 mm
52 1523572 BOILER VALVE @ 3/8"M - 1.8 bar CE/PED
54 1349240 "T" FITTING o 3/8"M-3/8"F-3/8"M
55 1523534 BOILER VALVE g 1/4"M
56 1349132 FITTING @ 3/8"M-1/4"F




(
3
é NUOVA SIMONELLI

ELECTRICAL PARTS AND MOTOR AURELIA I

AURELIA Il

1617181920

23/4GRS  2/34GRY g

: = rg;n]: s c=+| EE 1

eooodl b ol e p 50 51 52 53 54
]IJ[er_g lI'J‘]'I-T_E.jI R

e 36
21-/ 22" By g

NS4202

Positions without LF code no.: upon request




) NUOVA SIMONELLI w3
GroUD,
Position LF code no. Description
33 1319392 BLACK BIPOLAR SWITCH 10A 250V
35 3446561 CONTACTOR LOVATO BF0910A
36 1348035 NUT o 1/8"
39 3068016 CAPACITOR DUCATI ENERGIA 10uF
40 1240282 MOTOR CLAMP RPM 165W
41 1330001 ROTARY VANE PUMP ROTOFLOW g 3/8" NPT
41 1330002 ROTARY VANE PUMP ROTOFLOW g 3/8" NPT
43 1349706 L-FITTING @ 3/8"M-3/8"M NICKEL-PLATED
45 3526704 BALL VALVE @ 3/8"MF
46 1349112 FITTING @ 1/4"M-3/8"M
47 1349244 "T" FITTING o 1/4"M-1/4"M-1/4"F
49 1349244 "T" FITTING @ 1/4"M-1/4"M-1/4"F
50 1523572 BOILER VALVE g 3/8"M - 1.8 bar CE/PED
53 1349241 T-FITTING @ 3/8"F-3/8"F-3/8"M
55 1523534 BOILER VALVE g 1/4"M
57 1349132 FITTING @ 3/8"M-1/4"F




\K»{‘/(\
v NUOVA SIMONELLI

Suitable for: Suitable for:

Ball valves and accessories

3526699 BALLVALVE@ 1/4"MF 3526704 BALLVALVE ¢ 3/8"MF

Ve
¥ MD!GE&@@;!TOQLY '1’«“(/ g
Rt g

NUOVA SIMONELLI 09000008 NUOVA SIMONELLI 09000018 NUOVA SIMONELLI 09000016
Bearings
1199062 BEARING 6001 ZZ NSK D063017  BEARING 6001-2Z SKF

external @ 28mm - internal @ 12mm - thickness 8mm

NUOVA SIMONELLI 17010034

Boiler safety valves
1515003 BOILERVALVE @ 1/4"M 1523534  BOILER VALVE ¢ 1/4"M
adjustment pressure 2.1 bar stainless steel - new model

internal PTFE coating - or viton

NUOVA SIMONELLI 98013020 NUOVA SIMONELLI 98013021 NUOVA SIMONELLI 01000023
1523537 BOILERVALVE ¢ 1/4"M 1523572 BOILER VALVE ¢ 3/8"M - 1.8 bar CE/PED
stainless steel - old model calibration pressure 1.8 bar
orviton steam outlet flow rate 77 Kg/h

viton seal

operating temperature -20/+200°C
CE/PED certified valve

NUOVA SIMONELLI 01000023 NUOVA SIMONELLI 98013000 NUOVA SIMONELLI 98013001 NUOVA SIMONELLI 98013022



NUOVA SIMONELLI %
Suitable or: Suitable for:
Booster pumps

1330022 ROTARY VANEPUMP ROTOFLOW ¢ 3/8" GAS

compact model
clamp connection
flowrate 50L/h

with balanced bypass
length 58 mm

fitting @ 3/8" gas
N.S.F. Approved

NUOVA SIMONELLI 01300004

1168011 STAINLESS STEEL CLAMP FOR FLANGE PUMP

NUOVA SIMONELLI

1349103  FITTING ¢ 3/8"M-3/8"M

NUOVA SIMONELLI 07300015

1330001 ROTARY VANEPUMP ROTOFLOW ¢ 3/8" NPT
clamp connection
flowrate 100 L/h
equipped with balanced bypass
connection @ 3/8" conical NPT
NSF - WRAS approved

NUOVA SIMONELLI 01300005

1168011  STAINLESS STEEL CLAMP FOR FLANGE PUMP

NUOVA SIMONELLI

1349100 PUMP CONNECTION ¢ 3/8"CONIC-3/8" STRAIGH
3/8"CONICAL(NPT)-3/8"STRAIGHT




/

\){ /(‘
v

Suitable for:

NUOVA SIMONELLI

Suitable for:

1330002

NUOVA SIMONEL

1168011

ROTARY VANEPUMP ROTOFLOW ¢ 3/8" NPT 1349100 PUMP CONNECTION ¢ 3/8"CONIC-3/8" STRAIGH

clamp connection 3/8"CONICAL(NPT)-3/8"STRAIGHT
flowrate 200 L/h

equipped with balanced bypass
NSF - WRAS approved
PA204

LI 01300006

STAINLESS STEEL CLAMP FORFLANGE PUMP

NUOVA SIMONELLI

1330101

ROTARY VANEPUMP ROTOFLOW ¢ 3/8" NPT 1349100 PUMP CONNECTION ¢ 3/8"CONIC-3/8" STRAIGH

flange connection 3/8"CONICAL(NPT)-3/8"STRAIGHT
flowrate 100 L/h

with balanced by-pass

fitting @ 3/8" conical NPT
N.S.F. approved

PUMP VERSION ECO-BRASS
BRASS CW510L LEAD <=0.2%

NUOVA SIMONELLI

1168011

NUOVA SIMONELLI

STAINLESS STEEL CLAMP FORFLANGE PUMP




Q ‘w(/
NUOVA SIMONELLI %

Suitable or: Suitable for:
1330102 ROTARY VANEPUMP ROTOFLOW ¢ 3/8" NPT 1349100 PUMP CONNECTION ¢ 3/8"CONIC-3/8" STRAIGH

flange connection 3/8"CONICAL(NPT)-3/8"STRAIGHT

flowrate 200 L/h

with balanced by-pass

fitting @ 3/8" conical NPT

N.S.F. approved

PUMP VERSION ECO-BRASS

BRASS CW510L LEAD <=0.2%
NUOVA SIMONELLI
1168011 STAINLESS STEEL CLAMP FORFLANGE PUMP
NUOVA SIMONELLI

Brushes
1384023 BRUSH FORCLEANING 50 mm 1384001 BRUSH FOR COFFEE SHOWER
NUOVA SIMONELLI NUOVA SIMONELLI 05080012
1384002 BRUSH FORMAINTENANCE 1384014 BRUSHFORSHOWER RED
NUOVA SIMONELLI NUOVA SIMONELLI
Capacitors, electrical

3068016 CAPACITORDUCATIENERGIA 10pF 3068019 CAPACITORDUCATIENERGIA 12,5pF

450V 50/60Hz

operating temperature -25 + 85°C
lead connector 6.35x0.8 mm

@ 36xh58 mm

NUOVA SIMONELLI 04000043 NUOVA SIMONELLI 15050009

450V 50/60Hz
operating temperature -25 + 85°C
lead connection 6.35x0.8 mm

¢ 36xh70 mm
5
o
Cpeidd
~ x
7 B 83
I ‘?&léﬁ o
¢ T SST HS
@v?"i,‘@g #
S ey
SIS J
=

NUOVA SIMONELLI 15010033




It

\

Y ‘/‘ﬁ
’ NUOVA SIMONELLI
Suitable for: Suitable for:
3068024 CAPACITORDUCATIENERGIA 16pF 3068008 CAPACITORDUCATIENERGIA 5pF
450V 50/60Hz 450V 50/60Hz

operating temperature -25 + 85°C
lead connector 6.35x0.8 mm
¢ 36xh70 mm

NUOVA SIMONELLI 15050002 NUOVA SIMONELLI 15050023

operating temperature -25 + 85°C
lead connection 6.35x0.8 mm

@ 28xh55 mm
d - ‘._ Sk
J#,a’gé' ',,g -

NUOVA SIMONELLI

3068010 CAPACITORDUCATIENERGIA 6,3pF
450V 50/60Hz
operating temperature -25 + 85°C
lead connection 6.35x0.8 mm
¢ 32xh55 mm

NUOVA SIMONELLI 04000010

3068014 CAPACITORDUCATIENERGIA 8pF
450V 50/60Hz
operating temperature -25 + 85°C
lead connection 6.35x0.8 mm
¢ 32xh55 mm

NUOVA SIMONELLI

3068080 CAPACITORELECTRICAL 10uF
450V 50/60Hz - 9 30xh71 mm

Yl

4

NUOVA SIMONELLI 04000043 NUOVA SIMONELLI 15050009

3068081  CAPACITORELECTRICAL 12.5uF
450V 50/60Hz - ¢ 35xh71 mm

&
&

NUOVA SIMONELLI 15010033

3068083 CAPACITORELECTRICAL 16uF
450V 50/60Hz - @ 35xh71 mm

NUOVA SIMONELLI 15050002 NUOVA SIMONELLI 15050023

3068096 CAPACITORELECTRICAL 5pF
450V 50/60Hz - ¢ 30xh51 mm

L
C

NUOVA SIMONELLI

3068097 CAPACITORELECTRICAL 6.3uF
450V 50/60Hz - ¢ 30xh51 mm

NUOVA SIMONELLI 04000010

3068079  CAPACITORELECTRICAL 8pF
450V 50/60Hz - 9 30xh71 mm

&

NUOVA SIMONELLI LF-3068014




Q)
NUOVA SIMONELLI %
Suitable or: Suitable for:
Cappuccino makers - Cappuccinatore
1079023  CREAM ADJUSTER 1079022  MILK FROTHER NYLON
NUOVA SIMONELLI 01000121 NUOVA SIMONELLI 01000120
1079002 MILK FROTHER STANDARD NYLON
o
NUOVA SIMONELLI 01000075
Caps
1439023 BOILER CAP 5 3/8"M 1439020  CAP g 1/4"M FOR BREW GROUP

NUOVA SIMONELLI 07300130 NUOVA SIMONELLI 07300128

1439022 CAP 920 mm FOR BREW GROUP 1349416  CAP FOR BREW GROUP

NUOVA SIMONELLI 07300171 NUOVA SIMONELLI 07300173
Circlips
1348817 CIRCLIPRADIALg 4 mm 1250023  RADIAL SEEGERRING ¢ 5mm
stainless steel- outer 9.3 mm - thickness 0.7 mm stainless steel - external @ 11.3 - thickness 0.7
UNI 7434 - DIN 6799 UNI 7434 - DIN 6799

NUOVA SIMONELLI 18010399 NUOVA SIMONELLI 08000015




v NUOVA SIMONELLI

Suitable for: Suitable for:

1348326 SPRING RING RADIALg 7 mm

in zinc plated iron alloy
external @ 14.3 mm - thickness 0.9 mm
UNI 7434 - DIN 6799

NUOVA SIMONELLI 18010005

Clamps
3449404 DOUBLE-WIRE CLAMP 8.8-9.3-100 PCS 1168011  STAINLESS STEEL CLAMP FORFLANGE PUMP
for hoses ¢ 8.8+9.3 mm
NUOVA SIMONELLI 08000003 NUOVA SIMONELLI
Coffee filters
1160339 BLIND FILTER ¢ 70x17 mm 5071383  FILTRO CAPSULE EP-FAP SUPER EMULSIONE
adattatore per capsule singola dose
completo di valvola interna a pressione
per rendere cremoso il prodotto in tazza
da abbinare al portafiltro senza fondo specifico
per la marca della macchina
adattabile per macchine ASTORIA/CMA-BEZZERA
BRASILIA-CIMBALI-MAGISTER-MARZOCCO-NUOVA
SIMONELLI
PROMAC-RANCILIO-VICTORIA ARDUINO
-
NUOVA SIMONELLI 03000107 NUOVA SIMONELLI
1460100 PRECISION FILTER 1 CUP 6/8 g H24.5 1460101  PRECISION FILTER 1 CUP 7/9 g H26.5
round holes with conical section round holes with conical section
Aisi 304 stainless steel - food-safe certified Aisi 304 stainless steel - food safe certified
matching tamper ¢ 58 mm matching tamper ¢ 58 mm
for COFFEE MACHINES ASTORIA-CASADIO-CONTI-ELEKTRA for GROUP E61 ASCASO-BEZZERA-BFC-BIANCHI
FRACINO-KEESVANDERWESTEN-MAGISTER-MARZ0OCCO BRASILIA-DID-ECM-EXPOBAR-FAEMA-FIORENZATO-GRIMAC
N.SIMONELLI-PAVONI-PROMAC-RANCILIO-SLAYER-SYNESSO IBERITAL-LANUOVAERA-LASCALA-L'ORCHESTRALE
VICTORIA ARDUINO QUALITYESPRESSO-ROCKET-ROYAL-SABITALIA-SANREMO-VFA
for GROUPS E61 ASCASO-BEZZERA-BFC-BIANCHI VIBIEMME-WEGA

BRASILIA-DID-ECM-EXPOBAR-FAEMA-FIORENZATO-GRIMAC
IBERITAL-LANUOVAERA-LASCALA-ORCHESTRALE
QUALITYESPRESSO-ROCKET-ROYAL-SABITALIA-SANREMO-VFA
VIBIEMME-WEGA




Suitable for:
NUOVA SIMONELLI

NUOVA SIMONELLI

Suitable for:
NUOVA SIMONELLI




o NUOVA SIMONELLI
Suitable for: Suitable for:
1460102 PRECISION FILTER 2 CUPS 12/18 g H24.5 1460103  PRECISION FILTER 2 CUPS 14/20 g H26.5
round holes with conical section round holes with conical section
Aisi 304 stainless steel - food safe certified Aisi 304 stainless steel - food safe certified
matching tamper ¢ 58 mm matching tamper ¢ 58 mm
for GROUP E61 ASCASO-BEZZERA-BFC-BIANCHI for GROUP E61 ASCASO-BEZZERA-BFC-BIANCHI
BRASILIA-DID-ECM-EXPOBAR-FAEMA-FIORENZATO-GRIMAC BRASILIA-DID-ECM-EXPOBAR-FAEMA-FIORENZATO-GRIMAC
IBERITAL-LANUOVAERA-LASCALA-L'ORCHESTRALE IBERITAL-LANUOVAERA-LASCALA-L'ORCHESTRALE
QUALITYESPRESSO-ROCKET-ROYAL-SABITALIA-SANREMO-VFA QUALITYESPRESSO-ROCKET-ROYAL-SABITALIA-SANREMO-VFA
VIBIEMME-WEGA VIBIEMME-WEGA
NUOVA SIMONELLI NUOVA SIMONELLI
1460104 PRECISION FILTER 2 CUPS 18/22 g H28,5 1460400 PRECISION FILTER 2T 12/18 g H24
round holes with conical section ultrafine model
Aisi 304 stainless steel - food safe certified circular holes with conical section
matching tamper g 58 mm Aisi 304 steel - food-safe certified
for GROUP E61 ASCASO-BEZZERA-BFC-BIANCHI ¢ 58 mm suitable tamper
BRASILIA-DID-ECM-EXPOBAR-FAEMA-FIORENZATO-GRIMAC for COFFEE MACHINES: ASTORIA-CASADIO-CONTI-ELEKTRA
IBERITAL-LANUOVAERA-LASCALA-L'ORCHESTRALE FRACINO-KEESVANDERWESTEN-MAGISTER-MARZOCCO
QUALITYESPRESSO-ROCKET-ROYAL-SABITALIA-SANREMO-VFA N.SIMONELLI-PAVONI-PROMAC-RANCILIO-SLAYER-SYNESSO
VIBIEMME-WEGA VICTORIA ARDUINO
for GROUPS: E61 ASCASO-BEZZERA-BFC-BIANCHI
BRASILIA-DID-ECM-EXPOBAR-FAEMA-FIORENZATO-GRIMAC
IBERITAL-LANUOVAERA-LASCALA-ORCHESTRALE
QUALITYESPRESSO-ROCKET-ROYAL-SABITALIA-SANREMO-VFA
VIBIEMME-WEGA
. > 4
NUOVA SIMONELLI NUOVA SIMONELLI
1460401 PRECISION FILTER 2T 14/20 g H26 1460402  PRECISION FILTER 2T 18/22 g H28

ultrafine model

circular holes with conical section

Aisi 304 steel - food-safe certified

¢ 58 mm suitable tamper

for COFFEE MACHINES: ASTORIA-CASADIO-CONTI-ELEKTRA
FRACINO-KEESVANDERWESTEN-MAGISTER-MARZOCCO
N.SIMONELLI-PAVONI-PROMAC-RANCILIO-SLAYER-SYNESSO
VICTORIA ARDUINO

for GROUPS: E61 ASCASO-BEZZERA-BFC-BIANCHI
BRASILIA-DID-ECM-EXPOBAR-FAEMA-FIORENZATO-GRIMAC
IBERITAL-LANUOVAERA-LASCALA-ORCHESTRALE
QUALITYESPRESSO-ROCKET-ROYAL-SABITALIA-SANREMO-VFA
VIBIEMME-WEGA

NUOVA SIMONELLI

NUOVA SIMONELLI

ultrafine model

circular holes with conical section

Aisi 304 steel - food-safe certified

9 58 mm suitable tamper

for COFFEE MACHINES: ASTORIA-CASADIO-CONTI-ELEKTRA
FRACINO-KEESVANDERWESTEN-MAGISTER-MARZOCCO
N.SIMONELLI-PAVONI-PROMAC-RANCILIO-SLAYER-SYNESSO
VICTORIA ARDUINO

for GROUPS: E61 ASCASO-BEZZERA-BFC-BIANCHI
BRASILIA-DID-ECM-EXPOBAR-FAEMA-FIORENZATO-GRIMAC
IBERITAL-LANUOVAERA-LASCALA-ORCHESTRALE
QUALITYESPRESSO-ROCKET-ROYAL-SABITALIA-SANREMO-VFA
VIBIEMME-WEGA




Suitable for:

Suitable for:

NUOVA SIMONELLI

1460301 1 CUPFILTER "THE SINGLE" 9.5 g H21 mm 1460300
realized to obtain the best coffee extraction,
its rounded shape ensures a uniform brewing

from the coffee pod.

NUOVA SIMONELLI

NUOVA SIMONELLI

1 CUPFILTER "THE SINGLE" 7.5 g H19.5mm
realized to obtain the best coffee extraction,
its rounded shape ensures a uniform brewing
from the coffee pod.

1160070 1 CUPFILTER 6 gr 1160072

NUOVA SIMONELLI 03000321

NUOVA SIMONELLI 03000072

1CUPFILTER 7 gr

NUOVA SIMONELLI 17000047

1460302 1CUPFILTER "THE SINGLE" 12 g H22.5 mm
realized to obtain the best coffee extraction,
its rounded shape ensures a uniform brewing
from the coffee pod.

1160071

2 CUPSFILTER 12 gt

NUOVA SIMONELLI NUOVA SIMONELLI 03000322
1160053 2 CUPSFILTER 14 gr 1160345 2 CUPSFILTER 18 gr
NUOVA SIMONELLI 03000073 NUOVA SIMONELLI 17000048 NUOVA SIMONELLI
Coffee groups
1192168 CHROME-PLATED FORK FORLEVER GROUP 1192178  CONTROL LEVER FOR DELIVERY GROUP

NUOVA SIMONELLI 17010024

connections M16/M8 - overall length 230 mm

/"/

NUOVA SIMONELLI 17010025




\K»{‘/(\
v NUOVA SIMONELLI

Suitable for: Suitable for:

1018507 FITTING CAP

NUOVA SIMONELLI 07300166

Coffee measuring spoons

1069001 PLASTIC MEASURING SPOON 20 ml 1069002  STAINLESS STEEL MEASURING SPOON 20 ml

NUOVA SIMONELLI NUOVA SIMONELLI
Contact thermostats
5035435 CONTACT THERMOSTAT 140°C 1443055 CONTACT THERMOSTAT 125°C 16A 250V

for VENUS FAMILY

NUOVA SIMONELLI 40900007 NUOVA SIMONELLI 09500002

1444535 CONTACT THERMOSTAT 135°C 16A 250V 1444601  CONTACT THERMOSTAT 150°C

with manual reset

NUOVA SIMONELLI 09500004 NUOVA SIMONELLI 09500011

1443006 CONTACT THERMOSTAT 55°C 16A 250V

automatic reset

NUOVA SIMONELLI 09500006



NUOVA SIMONELLI

Suitable for: Suitable for:

Contactors

3446561 CONTACTORLOVATO BF0910A 3446227  AUXILIARY CONTACTLOVATO G218

coil 9A 230V 50/60Hz 4.2Kw 10A
3 normally open contacts 1 contact NO
1 normally open auxiliary contact 1 contact NC

biard
e
.

1
L3N

¥ w— ATy

NUOVA SIMONELLI 04200019

3446506 CONTACTORLOVATO BF2510A 3446227  AUXILIARY CONTACTLOVATO G218
25A 400V 12.5Kw 10A
coil 230V 50/60Hz 1 contact NO
3 normally open contacts 1 contact NC

1 normally open auxiliary contact

| Cida=—sd ) |
NUOVA SIMONELLI 04200070
Cup support grids
1185020 CUP WARMING GRID 1185722  CUP WARMING GRILL
dimensions 255x130 mm dimensions 370x230 mm

for 1 group coffee machines

——rrr |=====as: ]
| 147 PEN EID SN SN SR B R I N Y A AN A A A S A N N N N N O A bbb
=== =a. === = memmmmal
ER R L1 1 1 1 | o ————— I
| e Y 1 1 1 1 1 ’l ’l Il '| : 'l : ]\ ll \‘ ) -
|======: e E= e
j I - - . -
NUOVA SIMONELLI 05340028 NUOVA SIMONELLI 05340025 NUOVA SIMONELLI 05340031
1185021 STAIN.STEEL CUP SUPPORT GRID 2 GROUPS 1185022  STAIN.STEEL CUP SUPPORT GRID 2 GROUPS
dimensions 560x165 mm dimensions 735x137 mm

NUOVA SIMONELLI 40302004 NUOVA SIMONELLI 03001766

1185023 STAIN.STEEL CUP SUPPORT GRID 3 GROUPS

dimensions 965x137 mm

NUOVA SIMONELLI 03001767



o, NUOVA SIMONELLI

‘ y

Suitable for: Suitable for:

Detergents

1092202 DETERGENT LUJO TABLETS 120x1,1¢
100% made in Germany
120 tabletsjarof 1.1 g (132 g)
detergent for COFFEE MACHINES - SUPERAUTOMATIC
for cleaning filters. filter holders
brew groups and hydraulic systems
please see the attached documentation for use

NUOVA SIMONELLI
Drain hoses

1449270 DRAINPIPEELISPIRg 12x18 mm -30m 1449670  DRAIN PIPEELISPIR ¢ 12x18 mm -5m

alimentary alimentary

\ 5 \\ ‘ ‘\
NN 3

NUOVA SIMONELLI NUOVA SIMONELLI
1449271 DRAIN PIPEELISPIR ¢ 14x20 mm -30 m 1449671 DRAINPIPEELISPIR ¢ 14x20 mm -5 m

alimentary alimentary

N \»\\‘\\\‘\\\\\\‘\‘\\\ \\\\\\\\\\\T\\\‘
> \\\\\‘\ ' \\\\‘\\\\\\\
< \\t\ A\ \\\\\\\\
RN P ot
\ \}\

NUOVA SIMONELLI NUOVA SIMONELLI
1449272 DRAINPIPEELISPIR ¢ 16x23 mm -30m 1449672  DRAIN PIPEELISPIR 6 16x23 mm -5 m

alimentary alimentary

N\ \
g BB

NUOVA SIMONELLI NUOVA SIMONELLI
1449273 DRAIN PIPEELISPIR ¢ 18x25 mm -30m 1449673 DRAINPIPEELISPIR ¢ 18x25mm -5m

alimentary alimentary

N
o\ 8 . N \\\ \
i \\\\ (\‘\_\ \\\
\\\\\\\ . \\\\\\\\\\\\
LA ;M\\\\

NUOVA SIMONELLI NUOVA SIMONELLI




Suitable for:

NUOVA SIMONELLI

Suitable for:

1449274 DRAINPIPEELISPIR ¢ 20x27 mm -30m 1449674  DRAIN PIPEELISPIR ¢ 20x27 mm -5 m

alimentary alimentary

\v\\';:\\; - \\\ ‘ § \\\\\\
\\\\\\‘ \\\ \ \\‘ ) \H“ \(\\_\\\\;\\\‘\

, \\‘“:\":\\‘\ ) \\\\\\\l\\\\

\v\:)f\\ \ «\‘}f’}\"\\\
NUOVA SIMONELLI NUOVA SIMONELLI

1449255 OUTLETHOSEELISPIR ¢ 25x33 mm

sold per meter

\\W) )

i

NUOVA SIMONELLI

1449256  OUTLETHOSEELISPIR ¢ 30x38 mm

sold per meter

IJJ

\W“ )

NUOVA SIMONELLI

Drain tanks

1527036 DRAINTUB

dimensions 101x80x69 mm

NUOVA SIMONELLI 05000018

1527526  DRAINTUB

NUOVA SIMONELLI 03000203
NUOVA SIMONELLI 05000017

Electrical cables

5052176 CABLEFLAT 14 POLES 1250 mm

NUOVA SIMONELLI 04000812

Electronic boxes

5032628 DOSER CONTROLBOX2 GROUPS"V"
board size 120x100mm

NUOVA SIMONELLI 04900732

5054991 DOSERCONTROLBOX 2 GROUPS"V"

NUOVA SIMONELLI 04900715

NUOVA SIMONELLI 03000824 NUOVA SIMONELLI 05000016



v NUOVA SIMONELLI

Suitable for: Suitable for:

5053783 DOSING CONTROLBOX 2 GROUPS 230V

NUOVA SIMONELLI 04900740

Electronic printed-circuit boards

5029454 CPUCIRCUITBOARD 1 GROUP 1390098  CPUELECTRONIC CIRCUIT BOARD 2GR

size 120x66 mm dimensions 160x132 mm

NUOVA SIMONELLI 04900730 NUOVA SIMONELLI 04900713
1390099 CPUELECTRONIC CIRCUITBOARD 3/4GR 5049316 ELECTRONICBOARD CPU 3-4 GROUPS
dimensions 160x132 mm dimensions 117x133 mm

NUOVA SIMONELLI 04900714 NUOVA SIMONELLI 04900716

5054990 3-GROUPS ELECTRONIC CIRCUIT BOARD CPU

dimensions 132x116 mm

NUOVA SIMONELLI 04900726.U NUOVA SIMONELLI 04900733

Feet

1313516 FOOT ¢ 48x40 mm M10

NUOVA SIMONELLI 98001001 NUOVA SIMONELLI 98001006



NUOVA SIMONELLI

Suitable for: Suitable for:

Filter holder couplings

1802001 FILTER-HOLDER COUPLING BELL

NUOVA SIMONELLI 06200081

Filter holder gaskets
1786055 FILTER HOLDER GASKET ¢ 68x47.8x5 mm 1186400  FILTER HOLDER GASKET ¢ 71x56x8,2 mm
conical type
NUOVA SIMONELLI 02280006 NUOVA SIMONELLI 02280020.A NUOVA SIMONELLI 02280020.
1186402 FILTERHOLDER GASKET ¢ 71x56x9 mm 1186701  FILTER HOLDER GASKET ¢ 71x56X9 mm
conical type conical type
ORIGINAL
NUOVA SIMONELLI 40200004 NUOVA SIMONELLI 40200004
1186836 FILTERHOLDER GASKET ¢ 72x58x4.5 mm 1186837  FILTER HOLDER GASKET ¢ 72x58X7 mm
NUOVA SIMONELLI 02280025 NUOVA SIMONELLI 02280020
1186838 FILTERHOLDER GASKET ¢ 72x58x7 mm 1486008 GASKETFORFILTER HOLDER ¢ 72x58X7 mm
with external cuts with external cuts
ORIGINAL

O

NUOVA SIMONELLI 02280020 NUOVA SIMONELLI 02280020.C NUOVA SIMONELLI 02280020.C




Suitable for:

.y NUOVA SIMONELLI

Suitable for:

Filter holders for coffee machines

1165154 BARLEY POD FILTER HOLDER NUOVA SIMONELLI
flow reqgulation by
the knob rotation
wings 7 mm

NUOVA SIMONELLI 98005009

1165118

BOTTOMLESS FILTER HOLDER SIMONELLI

wings 7 mm - slanted body

NUOVA SIMONELLI 98050037

1165250 FILTER HOLDER CAPSULES LAVAZZA SIMONELLI 5083606 PRESSINO PERFORATORE CAPSULE LAVAZZA
alette 6,5 mm alette 6,5 mm
per capsule singole lavazza blue per capsule singole lavazza blue
L T
/(\]::/‘
NUOVA SIMONELLI
1165254 FILTER HOLDER COFFEE MACHINE NANOTECH 1165012  FILTER HOLDER SIMONELLI

NANOTECH
spout connection @ 3/8" - handle connection M10
wings 7 mm

ITE),
\ = 3
s W

\

=

-

NUOVA SIMONELLI

NUOVA SIMONELLI 06200086

spout connection ¢ 3/8" - handle connection M10
wings 7 mm

- Lo/
\ 3=

NUOVA SIMONELLI 06200092 NUOVA SIMONELLI 98005001

5070800 FILTERHOLDER WITH THERMOMANOMETER
measures water temperature and outlet pressure
from the brew group
temperature scale 0-120°C/ 0-240°F
pressure scale 0-16 bar / 0-200 psi
with outlet globe valve
wings 7.0 mm

NUOVA SIMONELLI

5072000

TERMOMANOMETRO 0-16 bar /0-120°C
misura temperatura dell'acqua e pressione in
uscita dal gruppo erogazione

scala temperatura 0-120°C/ 0-240°F

scala pressione 0-16 bar / 0-200 psi

con valvola a sfera di scarico

alette 7,0 mm




’\’J\r \i /
NUOVA SIMONELLI %@
Suitable or: Suitable for:
1165218 PORTAFILTRO SENZA FONDO SIMONELLI 1165045 1 CUPFILTERHOLDER ASSEMBLY SIMONELLI

alette 7 mm - corpo inclinato

o=

NUOVA SIMONELLI

spout connection ¢ 3/8" - handle connection M10
wings 7 mm - with spring and 6 g filter

)

NUOVA SIMONELLI 98005000 NUOVA SIMONELLI 98005021 NUOVA SIMONELLI 98005024

1165055

2 CUPSFILTER HOLDER ASSEMBLY SIMONELLI

spout connection ¢ 3/8" - handle connection M10

wings 7 mm - with spring and 12 g filter

NUOVA SIMONELLI 98005004 NUOVA SIMONELLI 98005022

NUOVA SIMONELLI 98005024

Filter locking springs

1250101 FILTER BLOCKING SPRING ¢ 1,00 mm INOX 1250338  FILTER LOCKING SPRING ¢ 1.40 mm ST.STEEL
ol \
/
o
NUOVA SIMONELLI NUOVASMONELLI 08000017 NUOVA SIMONELLI 40800002 NUOVA SMONELLI
1250002 S/STEELFILTER LOCKING SPRING ¢ 1.20 mm 1250333  SPRING FILTERBLOCK ¢ 1.30 mm ST.STEEL
/ \ / \
/ /
4 .
NUOVA SIMONELLI NUOVA SMONELLI
Filters

1160566 STAINLESS STEEL WATERFILTER ¢ 8 mm

NUOVA SIMONELLI 98004001



&

NUOVA SIMONELLI
Suitable for: Suitable for:
Fittings
1349243 "T"FITTING ¢ 1/4"F-1/4"F-1/4"M 1349702 "T"FITTING g 1/4"F-1/4"F-1/4"M NICKEL-P
NUOVA SIHONELLI 07300365 NUOVA SNONELLI 07300366
1349244 "T"FITTING ¢ 1/4"M-1/4"M-1/4"F 1349240  "T"FITTING ¢ 3/8"M-3/8"F-3/8"M

|

NUOVA SIMONELLI 07300116 NUOVA SIMONELLI 07300146

1349242 "T"FITTING ¢ 3/8"M-3/8"M-3/8"F 1349034  BOILER COUPLING

NUOVA SIMONELLI 07300209 NUOVA SIMONELLI 07300213 NUOVA SIMONELLI 07300213.10

1349032 COUPLING 3/8"M-3/8"M INSIDE M8 1349030 COUPLING ¢ 3/8"M-1/4"M SPRING HOLDER

for brew group

NUOVA SIMONELLI 07300172 NUOVA SIMONELLI 07300055

3349317 ELBOW FITTING 1/4"M ¢ 6/4 NICKEL 3349314 ELBOWFITTING 1/8"M ¢ 6/4 NICKEL

NUOVA SIMONELLI 07300361 NUOVA SIMONELLI 07300375

1349102 FITTING ¢ 1/4"M-1/4"M 1349112 FITTING ¢ 1/4"M-3/8"M

NUOVA SIMONELLI 07300012 NUOVA SIMONELLI 07300017




Suitable for:

NUOVA SIMONELLI

Suitable for:

1349120 FITTING ¢ 1/8"F-1/8"F

NUOVA SIMONELLI 07300529

1349111 FITTING ¢ 1/8"M 1/4"M

NUOVA SIMONELLI 07300006

1349101 FITTING ¢ 1/8"M-1/8"M NICKEL-PLATED

NUOVA SIMONELLI 07300004

1349132  FITTING ¢ 3/8"M-1/4"F

NUOVA SIMONELLI 07300099

1349103 FITTING ¢ 3/8"M-3/8"M

NUOVA SIMONELLI 07300015

5050997  GASFITTING ¢1/4 "M-1/4"M - INTERNAL M8

realizzato in ottone OT-57
lunghezza totale 35 mm - filetto interno M8

NUOVA SIMONELLI 07300100 NUOVA SIMONELLI 07300100.M8

1349653 HOSE-END FITTING ¢ 1/8"M ¢ 6 NICKEL

NUOVA SIMONELLI 07300203

1349706  L-FITTING ¢ 3/8"M-3/8"M NICKEL-PLATED

NUOVA SIMONELLI 07300068

1349716  L-FITTING NICKEL PLATED ¢ 1/8"M-1/8"F

NUOVA SIMONELLI 07300218

1349029  LEVEL FITTING WITH O-RING HOUSING

NUOVA SIMONELLI 07300109

1349712 NICHEL PLATED L-FITTING ¢ 1/8"F-1/8"F

NUOVA SIMONELLI 07300528

3349342  NICHEL-PL.HOSE-END FITTING ¢ 1/4"M ¢ 7

NUOVA SIMONELLI




&

NUOVA SIMONELLI
Suitable for: Suitable for:
3349340 NICHEL-PL.T-FITTING ¢ 1/4"M-1/4"M-1/4"M 3349355  NICHEL-PL.T-FITTING ¢ 1/8"F-1/8"F-1/8"F

NUOVA SIMONELLI 07300051 NUOVA SIMONELLI 07300718

5062765 RACCORDO @ 1/4"M-1/4"M GAS INTERNO M8 5064550 RACCORDOA"L"9 1/4"M-1/4"M GAS

realizzato in ottone OT-57

NUOVA SIMONELLI 07300012.M8 NUOVA SIMONELLI 07300121

3349302 STRAIGHTFITT. 1/4"M ¢ 6/4 NICKEL-PLATED 3349306  STRAIGHTFITT.1/8"F ¢ 6/4 NICKEL-PLATED

NUOVA SIMONELLI 07300362 NUOVA SIMONELLI 07300376

3349301 STRAIGHTFITT.1/8"M ¢ 6/4 NICKEL-PLATED 1349091  STRAIGHTFITTING M6 ¢ 6/4 mm

NUOVA SIMONELLI 07300364 NUOVA SIMONELLI 07300201

1349241 T-FITTING ¢ 3/8"F-3/8"F-3/8"M

NUOVA SIMONELLI 07300236

Flowmeters

1455033 CONNECTORFEMALE SMALL 3455333  COVER-HEAD FOR VOLUMETRIC FLOW METER LED

for volumetric flowmeter

NUOVA SIMONELLI NUOVA SIMONELLI




Suitable for:

NUOVA SIMONELLI

Suitable for:

1455032 IMPELLER GICAR

@

1455067 VOLUMETRIC FLOW METER GICAR

connections @ 1/4"FF - orifice 1.15 mm - NSF

NUOVA SIMONELLI NUOVA SIMONELLI 04900027 NUOVA SIMONELLI 40400002
5032820 VOLUMETRIC FLOW METER GICAR NSF

hose-end inlet/outlet @ 7 mm
NUOVA SIMONELLI 04900660

Fuses

3049070 QUICKACTING FUSE @ 10x38 mm - 10 PCS 3049033 QUICKACTING FUSE ¢ 6.3x32mm - 10 PCS

500V 4A 500V 6.3A

P o r’ - \?'3
\—— =

NUOVA SIMONELLI 16300112

NUOVA SIMONELLI 18010958

Gaskets and seals

1186394 ASBESTOS FREE FLAT GASKET ¢ 22x17x2 mm

e T
. x —
' -

NUOVA SIMONELLI 02060023

3186010  ASBESTOS FREE FLAT GASKET ¢ 54x42x2 mm

NUOVA SIMONELLI 18010760

1786259 BLIND GASKET ¢ 12x4 mm SILICONE

for expansion valve

NUOVA SIMONELLI 02590012

1186619  COPPER FLAT GASKET ¢ 18x14x1.5 mm

NUOVA SIMONELLI




It

\

Y ‘/‘ﬁ
’ NUOVA SIMONELLI
Suitable for: Suitable for:
1186547 FLATCARBO GASKET ¢ 32x24x1.5 mm 1186638 FLATCARBO GASKET ¢ 67x55x3 mm

universal carbo

O

NUOVA SIMONELLI 02060021

universal carbo
for heating element

NUOVA SIMONELLI 02060015

1186548 FLATCARBO GASKET ¢ 73x61.1x1.5 mm

universal carbo
for brew group

O

NUOVA SIMONELLI 02060022

1186409  FLATPTFE GASKET ¢ 68x55x3 mm

for heating element

NUOVA SIMONELLI 02060015

1186140 GASKETROUND COPPER ¢ 24x18.4x2.5 mm

O

1186404  PTFEFLAT GASKET ¢ 18x13x2 mm

NUOVA SIMONELLI NUOVA SIMONELLI 02600002
1186323 PTFEFLAT GASKET ¢ 24x18x2 mm 1186516  PTFEFLAT GASKET ¢ 26x17x2 mm
v \\_/'

NUOVA SIMONELLI 17000034 NUOVA SIMONELLI 40200001

1186179 PTFEFLAT GASKET ¢ 57x43x3 mm 1186171  ROUND COPPER GASKET ¢ 22x16.5x2.2 mm
for heating element

NUOVA SIMONELLI 02060037 NUOVA SIMONELLI 40200003 NUOVA SIMONELLI

1186487 SILICONE FLAT GASKET ¢ 12x4.5x4 mm 1786162  SILICONE MUSHROOM GASKET

NUOVA SIMONELLI 02590009 NUOVA SIMONELLI 02590010

for coffee group - @ 6/9 mm - height 8,5 mm

NUOVA SIMONELLI 02540004




NUOVA SIMONELLI %@

Suitable for: Suitable for:

Gaskets for coffee group

1186546 COFFEE GROUP GASKET 100x30x3 mm

universal carbo

NUOVA SIMONELLI 02060019

Handles for filterholder-portafilter

1225001 COMPLETE LEVER GROUP HANDLE 1241023  FILTERHOLDERHANDLE

\

NUOVA SIMONELLI 17000026 NUOVA SIMONELLI 05080014

1241502 FILTERHOLDERHANDLE M10 1241169  FILTERHOLDERHANDLE M12

\

NUOVA SIMONELLI 05080014 NUOVA SIMONELLI 49801002 NUOVA SIMONELLI 98005016 NUOVA SIMONELLI

1241501 FILTERHOLDERHANDLE M12 1241504  FILTERHOLDERHANDLE M12

)

\
\

NUOVA SIMONELLI NUOVA SIMONELLI

1241027 FILTERHOLDERKNOB 1241032  FILTERHOLDERKNOB CAP

NUOVA SIMONELLI 05000840 NUOVA SIMONELLI 05000842

1241163 FILTERHOLDERKNOB M10 1241269  FILTERHOLDERKNOB M10

\

NUOVA SIMONELLI NUOVA SIMONELLI




v NUOVA SIMONELLI

Suitable for:

Suitable for:

1141006 FILTERHOLDERKNOB M10 SOFT

\

NUOVA SIMONELLI

1141007  FILTERHOLDERKNOB M124 SOFT

\

NUOVA SIMONELLI

1241067 FILTERKNOB M12

\

NUOVA SIMONELLI 40500003

5051751  FILTERHOLDER KNOB WHITEM10

NUOVA SIMONELLI

1141004 HANDLE FORFILTER HOLDER M10 WALNUTWOOD

o=

NUOVA SIMONELLI

5083515 HANDLEFORFILTER HOLDER M10 WALNUTWOOD

NUOVA SIMONELLI

1141003 HANDLE FOR FILTER HOLDER M12 WALNUTWOOD

\
\

NUOVA SIMONELLI

5055983 HANDLEFORFILTER HOLDER M12 WALNUTWOOD

NUOVA SIMONELLI

5054505 KNOBF.FILTERHOLDER M12 RED POLISHED

\
\

NUOVA SIMONELLI

1241505 KNOBFILTERHOLDER M10

NUOVA SIMONELLI

5035724 KNOB FILTER HOLDER M10 COMPLETE

L= o

NUOVA SIMONELLI 98005002 NUOVA SIMONELLI 98005026

1241200  LEVER GROUP HANDLE

NUOVA SIMONELLI 17000025




Suitable for:

Vi
NUOVA SIMONELLI %

Suitable for:

5054506 RED FILTERHOLDERKNOB M10 POLISHED

==

NUOVA SIMONELLI

1241026 RUBBERF.FILTERHOLDER HANDLE

NUOVA SIMONELLI 05000844

1241031 STAIN.STEEL PINF.FILTERHOLDER HANDLE

NUOVA SIMONELLI 07300601

5051102 WHITE FILTERHOLDERKNOB M12

NUOVA SIMONELLI

Heating elements

1755023 HEATING ELEMENT 1000W 230V
immersed length 65 mm - 2 poles
¢ 50 mm - fittings 1/4"

NUOVA SIMONELLI 14100001

1186805 O-RINGO0115EPDM

NUOVA SIMONELLI 02280004

1755667 HEATING ELEMENT 1200W 110V
immersed length 155 mm - 2 poles
fittingo 1"

.@4.

NUOVA SIMONELLI 14100041

1186403  GREEN VITON O-RING 04137

for coffee group ¢ 44 mm

NUOVA SIMONELLI 02290020

1755033 HEATING ELEMENT 1200W 230V
immersed length 160 mm - 2 poles
fittingo 1"

NUOVA SIMONELLI 14100040

1186403  GREEN VITON O-RING 04137

for coffee group ¢ 44 mm

NUOVA SIMONELLI 02290020




.y NUOVA SIMONELLI

Suitable for: Suitable for:

1755666 HEATING ELEMENT 1500W 110V 1186638  FLAT CARBO GASKET ¢ 67x55x3 mm
immersed length 160 mm - 4 poles universal carbo
distance between flange holes 55/30 mm for heating element
flange ¢ 92/77 mm

for 1 group coffee machines

NUOVA SIMONELLI 14100025 NUOVA SIMONELLI 14100049 NUOVA SIMONELLI 14100086 NUOVA SIMONELLI 02060015

1186409 FLATPTFE GASKET ¢ 68x55x3 mm

for heating element

NUOVA SIMONELLI 02060015

1755029 HEATING ELEMENT 1800W 230V 1186655 O-RING 04131 EPDM

immersed length 190 mm - 2 poles
connection 1"

NUOVA SIMONELLI 14100029 NUOVA SIMONELLI 02280009 NUOVA SIMONELLI 18000022
1755078 HEATING ELEMENT 1800W 230V 1186638  FLAT CARBO GASKET ¢ 67x55x3 mm
immersed length 160 mm - 6 poles universal carbo
distance between the holes 55/30 mm for heating element
flange ¢ 92/77 mm

for coffee machines with 1 group

NUOVA SIMONELLI 14100024 NUOVA SIMONELLI 14100048 NUOVA SIMONELLI 14100084 NUOVA SIMONELLI 02060015

1186409 FLATPTFE GASKET ¢ 68x55x3 mm

for heating element

NUOVA SIMONELLI 02060015



Suitable for: Suitable for:

NUOVA SIMONELLI

5035292 HEATING ELEMENT 1800W 230V 1186606

immersed length 300 mm - 2 poles
distance between mounting holes 75 mm
flange 95x57 mm

for coffee machines 2 groups

NUOVA SIMONELLI 41400001

1186179 PTFEFLAT GASKET ¢ 57x43x3 mm

for heating element

NUOVA SIMONELLI 02060037 NUOVA SIMONELLI 40200003

FLAT CARBO GASKET 6 57x43x3 mm

in universal carbo
for heating element

1755030 HEATING ELEMENT 2300W 230V 1186655

immersed length 170 mm - 2 poles
connection 1"

0-RING 04131 EPDM

NUOVA SIMONELLI 14100038 NUOVA SIMONELLI 14100054 NUOVA SIMONELLI 02280009 NUOVA SIMONELLI 18000022

5016814 HEATING ELEMENT 2400W 230V 1186606

immersed length 375 mm - 2 poles
distance between mounting holes 75 mm
flange 95x57 mm

for coffee machines 3 groups

NUOVA SIMONELLI 41400002

1186179 PTFEFLAT GASKET ¢ 57x43x3 mm

for heating element

NUOVA SIMONELLI 02060037 NUOVA SIMONELLI 40200003

FLAT CARBO GASKET 6 57x43x3 mm

in universal carbo
for heating element




/

N

)| ‘/‘ﬁ
4 NUOVA SIMONELLI
Suitable for: Suitable for:
1755111 HEATING ELEMENT 2600W 230V 1786140  0-RING 0147 RED SILICONE
length 155 mm - connection ¢ 1"1/4
with bulb sheath
it ¢
NUOVA SIMONELLI 14100050 NUOVA SIMONELLI 14100088 NUOVA SIMONELLI 02290030
1755140 HEATING ELEMENT 2700W 220V 1186638  FLAT CARBO GASKET ¢ 67x55x3 mm
immersed length 185 mm - 6 poles universal carbo
distance between the holes 55/30 mm for heating element
flange @ 92/77 mm
for coffee machines with 2 groups
NUOVA SIMONELLI 14100027 NUOVA SIMONELLI 02060015

1186409 FLATPTFE GASKET ¢ 68x55x3 mm

for heating element

NUOVA SIMONELLI 02060015

1755142 HEATING ELEMENT 3000W 220/380V 1186638  FLAT CARBO GASKET ¢ 67x55x3 mm
immersed length 345 mm - 6 poles universal carbo
distance between the holes 55/30 mm for heating element
flange ¢ 92/77 mm

for coffee machines with 2 groups

N

NUOVA SIMONELLI 14100011 NUOVA SIMONELLI 02060015

1186409 FLATPTFE GASKET ¢ 68x55x3 mm

for heating element

NUOVA SIMONELLI 02060015



Suitable for:

NUOVA SIMONELLI %@

Suitable for:

1755141 HEATING ELEMENT 4500W 220/380V
immersed length 345 mm - 6 poles
distance between the holes 55/30 mm
flange 92/77 mm
for coffee machines with 2 groups

NUOVA SIMONELLI 14100031

1186409 FLATPTFE GASKET ¢ 68x55x3 mm

for heating element

NUOVA SIMONELLI 02060015

1186638 FLATCARBO GASKET ¢ 67x55x3 mm
universal carbo
for heating element

NUOVA SIMONELLI 02060015

1755143 HEATING ELEMENT 5000W 220V

immersed length 575 mm - 6 poles

1186638  FLAT CARBO GASKET 6 67x55x3 mm

universal carbo

distance between mounting holes 55/30 mm for heating element

flange ¢ 92/77 mm
for coffee machines with 3 groups

—f

NUOVA SIMONELLI 14100012

1186409 FLATPTFE GASKET ¢ 68x55x3 mm

for heating element

NUOVA SIMONELLI 02060015

NUOVA SIMONELLI 02060015

5066582 RESISTENZA A CARTUCCIA 300W 230V

cartuccia @ 10x115 mm - cavo 250 mm

NUOVA SIMONELLI 14100066



‘ »

Suitable for: Suitable for:

% NUOVA SIMONELLI

Hose-end fittings

1315015 "T"SHAPED FILTER HOLDER ¢ 5 mm

NUOVA SIMONELLI 05000752

Hydraulic piping

1449500 PTFEPIPEg 2x4 mm -10m 1449502  PTFEPIPEg 4x6 mm -10 m
alimentary alimentary

NUOVA SIMONELLI 11740002 NUOVA SIMONELLI 11740001 NUOVA SIMONELLI 18010755

3090759 PVCPIPEg4/6mm-10m 3090259 PVCPIPEg4/6mm-100m
alimentary alimentary

NUOVA SIMONELLI 18010280 NUOVA SIMONELLI 18010280

1449683 SILICONE HOSE ¢ 5x10 SHORE 60 -10 m 1449682  SILICONE HOSE ¢ 5x8 SHORE 60-10 m
alimentary alimentary

NUOVA SIMONELLI 11600004 NUOVA SIMONELLI 11600002

1449282 SILICONE HOSE ¢ 5x8 SHORE 60 - 100 m
alimentary

NUOVA SIMONELLI 11600002



NUOVA SIMONELLI %
Suitable or: Suitable for:
Indicator lights

3221162 GREENLAMP RECEPTACLE

head ¢ 14.5 mm - hole 2 10 mm

NUOVA SIMONELLI 18010610

3221013  INDICATOR LAMP RED 230V
mounting hole 22x30 mm - 105°C
universal application

NUOVA SIMONELLI 04200012

3221097 NEUTRALINDICATORLAMP 220V
head 8 8 mm - 120°C

NUOVA SIMONELLI 18010606

3221163  ORANGE LAMP RECEPTACLE

head ¢ 15 mm - hole g T0 mm

NUOVA SIMONELLI 18010611

1221202 RED INDICATOR LAMP 250V

mounting hole 25x22 mm

NUOVA SIMONELLI 04200031

1221004  RED PILOT LIGHT 230V

_—
& '@fﬁﬁ )

NUOVA SIMONELLI 04200052

Injectors

1501574 JETM6x6 LOCK ¢ 0.8 mm

NUOVA SIMONELLI 07300022

1349074  JETM8x1HOLE@ 0.5 mm

for brew group

NUOVA SIMONELLI 07300229

1349075 JETM8x1HOLE@ 0.8 mm

for brew group

NUOVA SIMONELLI 07300125

1349033  JETM8x1HOLE¢ 4.0 mm

for brew group

NUOVA SIMONELLI 07300184




‘\»{“/
v NUOVA SIMONELLI
Suitable for: Suitable for:
1500526 NOZZLEM10x1HOLE@ 0.8 mm 1501578 NOZZLEM6x1HOLE@ 0,5 mm

for brew group

NUOVA SIMONELLI 07300174

for brew group

NUOVA SIMONELLI 07300352

Inlet hoses

1449736 FLEXHOSE @ 3/8"Fcx CFc1500 mm 1449725 FLEXHOSE@ 3/8"FcxFc1500 mm
EPDM hose covered in stainless steel EPDM hose covered in stainless steel
hose external ¢ 12 mm hose external ¢ 12 mm
max temperature 90°C max temperature 90°C
max pressure 10 bar max pressure 10 bar

NUOVA SIMONELLI NUOVA SIMONELLI 01000029

1449722 FLEXHOSE@ 3/8"FcxFc500 mm 1449710 FLEXHOSE @ 3/8"Fp xFc300mm
EPDM hose covered in stainless steel EPDM hose covered in stainless steel
hose external @ 12 mm hose external ¢ 12 mm
max temperature 90°C max temperature 90°C
max pressure 10 bar max pressure 10 bar

NUOVA SIMONELLI NUOVA SIMONELLI

5025958 FLEXHOSE®@ 1/4"FcxFc500 MM 5019507 HOSEFLEX 9 1/4"FcxFc320 mm

tubo DN6 (@ 6 x 10 mm ) stainless steel

NUOVA SIMONELLI 01000019

NUOVA SIMONELLI 01000010

Ironmongery (screws,nuts,washers)

1528001
slotted - stainless steel
UNI 6109 - DIN 963 - 1SO 2009

NUOVA SIMONELLI

COUNTERSUNK FLAT HEAD SCREWS M4x10

5048127  COUNTERSUNKFLATHEAD SCREWS M4x12

hexagon socket - stainless steel
UNI 5933 - DIN 7991 - I1SO 10642

NUOVA SIMONELLI 00000147




Suitable for:

NUOVA SIMONELLI ‘ﬁ

Suitable for:

1528623 COUNTERSUNKFLATHEAD SCREWS M4x6

cross recessed - stainless steel
UNI 7688 - DIN 965 - 1SO 7046

NUOVA SIMONELLI 00000119

1528016 COUNTERSUNK FLAT HEAD SCREWS M6x16
slotted - stainless steel
UNI6109 - DIN 963 - 1SO 2009

NUOVA SIMONELLI 00300021

5015285 COUNTERSUNKFLATHEAD SCREWS M6x16

hexagon socket - stainless steel
UNI'5933 - DIN 7991 - ISO 10642

NUOVA SIMONELLI 00000152

3528291  CROSS HEAD FLUSH SCREW M4x8
cross-shaped - st./steel
UNI 7688 -DIN 965 - I1SO 7046

NUOVA SIMONELLI

5055105 CYLINDERHEAD SCREW M4x10
stainless steel - cross recessed
UNI 7687 - DIN 7985 - 1SO 7045

NUOVA SIMONELLI 00000175

1528100 CYLINDERHEAD SCREW M4x12
stainless steel - cross cut
UNI 7687 - DIN 7985 - IS0 7045

NUOVA SIMONELLI

1528049 CYLINDER HEAD SCREW M4x16
stainless steel - with hexagon socket
UNI5931-DIN 912 -1S0 4762

NUOVA SIMONELLI 00000148

5055169  CYLINDERHEAD SCREW M4x30
stainless steel - with hexagon socket
UNI5931-DIN912-1S0 4762

NUOVA SIMONELLI 00000149

3528183 CYLINDERHEAD SCREW M4x40
stainless steel - cross recessed
UNI 7687 - DIN 7985 - 1SO 7045

NUOVA SIMONELLI 00000042 NUOVA SIMONELLI 00000132

1528631  CYLINDERHEAD SCREW M4x8
stainless steel - cross recessed
UNI 7687 - DIN 7985 - IS0 7045

NUOVA SIMONELLI




(\» | / )(:

Suitable for:

” NUOVA SIMONELLI

Suitable for:

5014713 CYLINDERHEAD SCREW M5x16

stainless steel - with hexagon socket
UNI5931-DIN 912 -1S0 4762

NUOVA SIMONELLI 00000142 NUOVA SIMONELLI 18010470

5055171  CYLINDERHEAD SCREW M5x25

stainless steel - with hexagon socket
UNI5931-DIN912-1S0 4762

NUOVA SIMONELLI 00000151

9528041 CYLINDERHEAD SCREW M6x20
stainless steel - with hexagon socket
UNI5931-DIN 912 -1S0 4762
¢ head 10 mm - overall length 26 mm

NUOVA SIMONELLI 00000112

3528238 FLATWASHER M4
internal/external ¢ 4.3/9 mm - thickness 0.8 mm
stainless steel - UNI1 6592 - DIN 125 A - 1SO 7089

NUOVA SIMONELLI 00000073

3528028 HEXAGONHEAD SCREW M10x20
stainless steel - UNI 5739 - DIN 933 - IS0 4017

NUOVA SIMONELLI 00000087

1528511 HEXAGONHEAD SCREW M5x25
stainless steel - UNI 5739 - DIN 933 - 1S0 4017

NUOVA SIMONELLI

1528009 HEXAGON HEAD SCREW M6x12
inox - UNI 5739 - DIN 933 - 1S0 4017

NUOVA SIMONELLI

1184820 HEXAGONHEAD SCREW M6x25
stainless steel - UNI 5739 - DIN 933 - 1S0 4017

NUOVA SIMONELLI 00000107

3528088 HEXAGONHEAD SCREW M8x20
stainless steel - UNI 5739 - DIN 933 - 1SO 4017

NUOVA SIMONELLI 00000094

3528112  HEXAGONAL HEAD SCREW M6x16
st./steel - UNI 5739 - DIN 933 - IS0 4017

NUOVA SIMONELLI




Suitable for:

NUOVA SIMONELLI

Suitable for:

3528137 HEXAGONAL NUT HIGH M8
stainless steel - UNI 5587 - 1S0 4033

NUOVA SIMONELLI 00000056

5060610 HEXAGONAL NUT MEDIUM M3

stainless steel - UNI 5588 - DIN 934 - IS0 4032

NUOVA SIMONELLI 00000060

3528213 HEXAGONAL NUT MID M5 1348813 HEXAGONAL NUT M4 MEDIUM

st./steel - UNI 5588 - DIN 934 - 1SO 4032 stainless steel - UNI 5588 - DIN 934 - 1SO 4032
NUOVA SIMONELLI 00000003 NUOVA SIMONELLI
1348041 HEXAGONAL SELF-LOCKING NUT M8 1184006 LOW CYLINDER HEAD SCREW M4x12

stainless steel - with built in nylon ring

UNI 7473 - DIN 982 - 1SO 7040

NUOVA SIMONELLI 00300018

stainless steel - with hexagon socket
UNI9327 - DIN 7984

NUOVA SIMONELLI 00000089 NUOVA SIMONELLI 00000118

1184010 LOW CYLINDERHEAD SCREW M6x10 1528030 MID HEXAGONALNUT M6
stainless steel - with hexagon socket stainless steel - UNI 5588 - DIN 934 - 1S0 4032
UNI 9327 - DIN 7984

NUOVA SIMONELLI 40000001 NUOVA SIMONELLI

1349504 NUT ¢ 1/2" KEY 25x6 mm 1348035 NUTg1/8"

NUOVA SIMONELLI 00300032

NUOVA SIMONELLI 00300005

3523086 NUT@3/4"

NUOVA SIMONELLI 18010648

1348036  NUT ¢ 3/8" WRENCH 21x6mm

NUOVA SIMONELLI 00300012




( )/
\K){ }/‘(‘

v NUOVA SIMONELLI

Suitable for:

Suitable for:

1389001 S/STEELPIN ¢ 2x20 mm
UNI 1336 - DIN 94 - SO 1234

NUOVA SIMONELLI 08000084

1528643  SCREWS NO HEAD WITH HEX. SOCKET M6x20

stainless steel - flat end
UNI 5923 - DIN 923 -1S0 4026

M

NUOVA SIMONELLI 00200013

5055103 SELF-TAPPING SCREW ¢ 2.9x13 mm
stainless steel - countersunk flat head
cross recessed - C type end
UNI 6955 - DIN 7982 - 1SO 7050

NUOVA SIMONELLI 00000169

5040050  SELF-TAPPING SCREW ¢ 3.9x9.5 mm
stainless steel - cylinder head
cross recessed - C type end
UNI 6954 - DIN 7981 - 1SO 7049

NUOVA SIMONELLI 00000195 NUOVA SIMONELLI 18010313

1348814 TOOTHED WASHER EXT.M4
internal/external ¢ 4.3/8 mm - thickness 0.5 mm
stainless steel - UNI 8842 A - DIN 6798 A

NUOVA SIMONELLI 00000011 NUOVA SIMONELLI 18010291

1186504 WASHERFLATM10
internal/external ¢ 10.5/20 mm - thickness 2 mm
stainless steel - UNI 6592 - DIN 125 A - 1SO 7089

NUOVA SIMONELLI LF-1528010

1186399 WASHERFLATM16

internal/external ¢ 17/30 mm - thickness 3 mm
in zinc plated iron alloy
UNI 6592 - DIN 125 A-1S0 7089

NUOVA SIMONELLI 00200011

Knobs

1241912 SELECTORSWITCH KNOB

NUOVA SIMONELLI 05000064

1241025  WATER/STEAM TAP KNOB

NUOVA SIMONELLI 05000815




NUOVA SIMONELLI
Suitable or: Suitable for:
1241030 WATER/STEAM TAP KNOB 1241548  WATER/STEAM TAPKNOB

2 18x40 mm

NUOVA SIMONELLI 05080021

NUOVA SIMONELLI 05000022

Labels for control panels

5047809 (CONTROL PANEL GRAY

dimensions 720x87 mm

NUOVA SIMONELLI 05000919 NUOVA SIMONELLI 98160005

Level balls

1323200 STAINLESS STEEL BALL 012 mm

NUOVA SIMONELLI 17000035 NUOVA SIMONELLI 17010008

Level gauges

1520518 LEVEL GLASS ¢ 12x112mm

& Sumgtet

NUOVA SIMONELLI 09000009

1520516  LEVEL GLASS ¢ 12x135mm

A

)
: /
\

NUOVA SIMONELLI 09000010

1201100 LEVEL GLASS ASSEMBLY

total length 144 mm - connections o 3/8"
for NUOVA SIMONELLI SUPERAUTOMATICA MASTER
for NUOVA SIMONELLI PREMIER-PROGRAM-MAC2000

MACCUP-APPIA-AURELIA

for VICTORIA ARDUINO ATHENALEVA-ATHENAS

VENUSCENTURY

NUOVA SIMONELLI 75010001 NUOVA SIMONELLI 75010002

NUOVA SIMONELLI 98010020



.y NUOVA SIMONELLI

Suitable for: Suitable for:
Level regulators
1341004 LEVEL REGULATOR RL30/25/3R 230V 1341305 LEVELREGULATORRL30/1E/2C/8 230/240V
230V 50/60Hz 230/240V 50/60HZ 5A

NUOVA SIMONELLI 04900195 NUOVA SIMONELLI 09000015

Level sensors

1341013 LEVEL PROBE ¢ 1/4"M-130 mm

-z

NUOVA SIMONELLI 09000005

Lip seals

1186197 LIP SEAL ¢ 52x40x7 mm

NUOVA SIMONELLI 17000021

Magnets

3240181 PROTECTED MAGNET 62x18x10 mm

NUOVA SIMONELLI 18010707

Microswitches, mechanical

3240119 MICROSWITCH D45 16A 250V 1240006 MICROSWITCH ELECTRICA C60ZN
lever length 60 mm 250V 16A

\

G e
¥ -

NUOVA SIMONELLI 04200043 NUOVA SIMONELLI 04200042




Suitable for:

NUOVA SIMONELLI %

Suitable for:

3240123 MICROSWITCHROLD VRSRB1DA1

16A 250V
o
L 4

o

NUOVA SIMONELLI 15000041 NUOVA SIMONELLI 15020003

3240410 MICROSWITCH 16(4)A 250V

NUOVA SIMONELLI 15030095

3240236 LIMIT SWITCH CONTROL

3240233 MICROSWITCHFITTING M16x1.5 mm

3240235 RINGNUTM16x1.5 mm

3240203 BUSHING DOORMICROSWITCH

external @ 10x15 mm

3240234  LIMIT SWITCHPIN

3250071  MICROSWITCH SPRING ¢ 13x25 mm

Motors

1240282 MOTORCLAMPRPM 165W
model 11002708
power 165W 220/230V 50/60Hz
capacitor 10 pf
for rotary vane pump

NUOVA SIMONELLI 04500034

1240065 MOTORRPM WITH CLAMP 120W
model C004320
power 120W 230V 50/60Hz
capacitor 6 mf
for rotary vane pump

NUOVA SIMONELLI 04500033



“\»{‘/
v NUOVA SIMONELLI
Suitable for: Suitable for:
Non-return and expansion valves
1523405 EXPANSION VALVE ¢ 1/4"M-1/4"M 5036751 EXPANSIONVALVE@ 1/8"M -8 mm
calibration 16.5 bar
NUOVA SIMONELLI 72012007 NUOVA SIMONELLI 98120001
1720013 EXPANSION VALVE ¢ 1/8"M 12 bar 1523065 EXPANSION VALVE@¢ 1/8"M-7mm
fitting  1/8"M - hose-end ¢ 7 mm
NUOVA SIMONELLI 98120005 NUOVA SIMONELLI 73012002
1523064 NON-RETURN VALVE 1523007 NON-RETURN VALVE ¢ 1/4"M-1/4"M
NUOVA SIMONELLI 01000090 NUOVA SIMONELLI 98003016 NUOVA SIMONELLI 98003018
1523700 NON-RETURNVALVEg 1/8"M-1/8"M 5072799  VALVOLA DINONRITORNO o 1/8"F-1/8"F
N
NUOVA SIMONELLI 73017002 NUOVA SIMONELLI 98110001

Nozzles for coffee groups

1501576 BREW GROUP SPRAY NOZZLE

holeg 7 mm

NUOVA SIMONELLI 07300124



Suitable for:

NUOVA SIMONELLI

Suitable for:

O-Ring and ORM gaskets

1786157 EPDM O-RING R18

o

NUOVA SIMONELLI 40200006

5033919  GASKET O-RING 03062 EPDM

O

NUOVA SIMONELLI 02280017

1186625 GASKETOR03281EPDM

@

NUOVA SIMONELLI 02280015.EP

5034069 GASKETORM 0059-12 EPDM

for steam sprinkler

o

NUOVA SIMONELLI 02280036

1786260 GASKETORM 0102-25 PTFE

for steam pipe

NUOVA SIMONELLI 02600004

1186790  GREEN VITON O-RING 04118

O

NUOVA SIMONELLI 02290017 NUOVA SIMONELLI 2290017

1186403 GREEN VITON O-RING 04137

for coffee group ¢ 44 mm

O

NUOVA SIMONELLI 02290020

1186397 O RING GASKET OR 02300 EPDM

(O

NUOVA SIMONELLI 02280033

1186165 O-RING GASKETM 0160-20 EPDM

O

NUOVA SIMONELLI 02280037

3243009 O-RING GASKET 0106 EPDM

O

NUOVA SIMONELLI 02280007 NUOVA SIMONELLI 18010162

1186466 O-RING GASKET 03181 EPDM

for coffee group flange

O

NUOVA SIMONELLI 18010342

1186902  0-RING 0108 -RED SILICONE

for steam tap

O

NUOVA SIMONELLI 02000002 NUOVA SIMONELLI 02000005




Ly NUOVA SIMONELLI

Suitable for: Suitable for:

1186422 O0-RING 0108 EPDM 1186304 O-RINGO112EPDM

NUOVA SIMONELLI 02280010 NUOVA SIMONELLI 18010048

1186626 O-RINGO114EPDM 1186805 O-RINGO115EPDM

NUOVA SIMONELLI 02280032 NUOVA SIMONELLI 02280004

1186709 O-RING 0115 VITON 3243086 O-RINGO0117EPDM

NUOVA SIMONELLI 02280016 NUOVA SIMONELLI 02280011 NUOVA SIMONELLI 18010551
3186183 O-RINGO0128 EPDM 1786117  O-RING 0147 VITON

for coffee group

O 3,

NUOVA SIMONELLI 18010322 NUOVA SIMONELLI

1186198 0-RING 0161 EPDM 1786287 0-RING 0162 BLACKVITON

for lever coffee group

O O

NUOVA SIMONELLI 17000032 NUOVA SIMONELLI 17010014

1186199 O0-RING0162 EPDM 1186763  O0-RING 0171 EPDM

O O

NUOVA SIMONELLI 17000031 NUOVA SIMONELLI 40200010




NUOVA SIMONELLI %
Suitable or: Suitable for:
1186163 O-RING 02010 EPDM 1186014  O-RING02015EPDM

O

NUOVA SIMONELLI 15100179

NUOVA SIMONELLI

18010559

1186514 0-RING 02015 SILICON

O

NUOVA SIMONELLI 02280014 NUOVA SIMONELLI 2280014

1186421

NUOVA SIMONELLI

0-RING 02018 EPDM

18010555

1186362 0-RING 02021 EPDM

O

NUOVA SIMONELLI 02280005

1186611

NUOVA SIMONELLI

0-RING 02025 RED SILICONE

O

1186612 0-RING 02025 VITON

O

NUOVA SIMONELLI

1186411

NUOVA SIMONELLI

0-RING 02031 EPDM

O

02280001

1186352 0-RING 02050 EPDM

NUOVA SIMONELLI 18010006

1186366

NUOVA SIMONELLI

0-RING 02050 RED SILICONE

internal @ 12.42 mm - thickness 1.78 mm

O

02000003

1186223 0-RING 02056 EPDM

&

NUOVA SIMONELLI 0228032

1186401

0-RING 02093 EPDM

O

NUOVA SIMONELLI 02280012




Suitable for:

NUOVA SIMONELLI

Suitable for:

1186631 0-RING 02112 VITON

NUOVA SIMONELLI

3186181  O-RING 03068 EPDM

O

NUOVA SIMONELLI 18010302

1186356 0-RING 03075 EPDM

O

NUOVA SIMONELLI 18010207

1186327 0-RING 03081 EPDM

NUOVA SIMONELLI

3160044 O-RING 03187 EPDM

O

NUOVA SIMONELLI 18010148 NUOVA SIMONELLI 40200005

1186655 O-RING 04131 EPDM

O

NUOVA SIMONELLI 02280009 NUOVA SIMONELLI 18000022

3186271 O-RING 04312EPDM

®

NUOVA SIMONELLI 18010613

3186014  O-RING 06225 EPDM ¢ 67 mm

O

NUOVA SIMONELLI 18010746

1186435 0-RING 106 VITON

O

NUOVA SIMONELLI 17010010

3186860 ORGASKET 03056 EPDM
EXORO0118

@,

NUOVA SIMONELLI 18010208

3186847 ORGASKET03131EPDM

O

NUOVA SIMONELLI 18010033

1186405  RED SILICONE O RING 03281

O

NUOVA SIMONELLI 02280015




Suitable for:

NUOVA SIMONELLI %

Suitable for:

1186610 RED SILICONE O-RING R5 GASKET

NUOVA SIMONELLI 02290016

1786156  VITON O-RING R21

NUOVA SIMONELLI 40200007

1186791 VITON OR-GASKET R6

NUOVA SIMONELLI 02290018 NUOVA SIMONELLI 02290019

1786140  0-RING 0147 RED SILICONE

NUOVA SIMONELLI 02290030

Paper seals

1190051 PAPERSEAL ¢ 70x57x0.8 mm

1190001  PAPERSHIM ¢ 73x59x0.8 mm

NUOVA SIMONELLI NUOVA SIMONELLI
1190002 RUBBER SHIM ¢ 73x59x1 mm EPDM
NUOVA SIMONELLI

Pins

1324022 PIPE ARTICULATION PIN

NUOVA SIMONELLI 07300113

1324064  SPRING PIN

NUOVA SIMONELLI 07300107

1324069 STEAMTAPPIN

NUOVA SIMONELLI 07300104 NUOVA SIMONELLI 07300810

1324072  TAP CONTROLPIN

NUOVA SIMONELLI 07300035




/

N

e NUOVA SIMONELLI
Suitable for: Suitable for:

1324021 TAP CONTROL SPINDLE

="

NUOVA SIMONELLI 07300105

1324073  TAP STAINLESS STEEL PIN

NUOVA SIMONELLI 07300221

Pipes for coffee machines

1449038 HYDRAULICPIPE FOR DRAIN TANK

NUOVA SIMONELLI 79000023 NUOVA SIMONELLI 98030065

1449037  INJECTORPIPE M8
length 130 mm

—_—

NUOVA SIMONELLI 75030068

1550019 TUBAZIONE PESCANTE ¢ 1/8"M-1/8"F

¢ tubo 6 mm - lunghezza totale 60 mm

NUOVA SIMONELLI 98030501

Pressure gauges

1245502 BOILER-PUMP PRESSURE GAUGE ¢ 60 mm

double scale 0+2.5/0+16 bar - connections g 1/8"M

rim ¢ 65 mm - body 6 60 mm

NUOVA SIMONELLI

1245503  BOILER-PUMP PRESSURE GAUGE ¢ 60 mm
double scale 0+2.5/0+15 bar - connections @ 1/8"M
rim ¢ 65 mm - body 6 60 mm

NUOVA SIMONELLI 09100003

1245504 BOILER-PUMP PRESSURE GAUGE ¢ 60 mm
double scale 0+-2.5/0+16 bar - fittings ¢ 1/8"M
frame ¢ 65 mm - case 60 mm

NUOVA SIMONELLI

1245045 PUMP-BOILER PRESSURE GAUGE ¢ 63 mm
double scale 0+-2.5/0+16 bar - fittings ¢ 1/8"M
frame 6 70 mm - body 9 63 mm

NUOVA SIMONELLI 40900001



NUOVA SIMONELLI

Suitable for: Suitable for:

Pressure reducers

1350531 GASREGULATORDK2BAR @ 1/4"FF

NUOVA SIMONELLI 09600007

Pressure switches

1320533 MEMBRANE KIT FORPRESSURE SWITCH 1320541  PRESSURE SWITCH PARKER
model P302-6 ¢ 55 mm CEI-UL approved
connection ¢ 1/4"
scale 0.5+1.4 bar
differential 0.18+0.03 bar
maximum pressure 2.1 bar
maximum temperature 140°C

NUOVA SIMONELLI NUOVA SIMONELLI

1320531 PRESSURE SWITCH P302/6 3-POLES 30A 1320001  PRESSURE SWITCH 1,4BAR 16A 250V 1/4"
CE-SEV-ASE-UL approved connection g 1/4"M
ISO 228 G connection 1/4"M for pipe ¢ 4x6 mm
adjustable scale 0.5+1.4 bar
fixed differential 0.15 (* 0.06) bar
fluid temperature max :140°C
max contact load : 220V 7KW (30A)
400V 12KW (30A)

NUOVA SIMONELLI 09200006 NUOVA SIMONELLI 09200014
Probes
1397041 PROBEPTP-51FR100 1397024 TEMPERATURE PROBE
for delivery assembly bulb ¢ 8x65 mm - fitting @ 1/8"

cable length 400 mm

NUOVA SIMONELLI 04900560 NUOVA SIMONELLI 04900561




. NUOVA SIMONELLI

v
Suitable for: Suitable for:
1397001 TEMPERATURE PROBENTC 5047603 TEMPERATURE PROBENTC 150°C
coupling @ 1/4" - bulb @ 8x20 mm thread ¢ 1/8"M - bulb @ 4x20 mm - cable 500 mm
-~ ——t—
-_/—’——

NUOVA SIMONELLI 04900775 NUOVA SIMONELLI 04900775.1

NUOVA SIMONELLI 04900154

1397066 TEMPERATURE PROBE PT1000

-
NUOVA SIONELLI 04600991
Relays
3351154 BASEOCTALESS 10A 400V 3351021  POWERRELAY FINDER 62.82.8.230.0000
230V 50/60Hz

8 poles
2 exchange contacts 16A

NUOVA SIMONELLI 09000011 NUOVA SIMONELLI 04200046

3351032 POWERRELAY FINDER 66.82.8.230.0300

230V 50/60Hz
2 contacts NO 30A

NUOVA SIMONELLI 04200007

Rotary switches

1057029 SELECTORSWITCH 0-1 POSITIONS 20A 690V 1319045  SELECTORSWITCH 0-1 POSITIONS 32A 600V
square pin 5x5 mm

square pin 5x5 mm

NUOVA SIMONELLI 04200022

NUOVA SIMONELLI 04200015 NUOVA SIMONELLI 04200023



\
NUOVA SIMONELLI %

Suitable for: Suitable for:

1057028 SELECTORSWITCH 0-3 POSITIONS 40A 660V

pin 5x5 mm

NUOVA SIMONELLI 40402001

Rubberpieces for steam-water taps

1186398 BURNPREVENTING PIPE HANDGRIP ¢ 8 mm 5030025 BURNPREVENTING RUBBERP.F/PIPE @ 10 mm
NUOVA SIMONELLI 05000002 NUOVA SIMONELLI 05000001
Seals for level glasses
1186206 EPDM FLAT GASKET ¢ 16x10x8 mm 1186221 FLATEPDM GASKET ¢ 19x11.5x10 mm
for level glass for level glass

NUOVA SIMONELLI 40200008 NUOVA SIMONELLI 02260024

Shower screens for brew group

1081603 PRECISION SHOWERNANOTEC ¢ 56.5 mm 1460204  PRECISION SHOWER SCREEN ¢ 56.5 mm
rivestimento antiaderente in NANOQUARZO central hole 6 mm - 98 holes 3 mm
aumenta la resistenza a corrosione Aisi 316 stainless steel - food-safe certified
e da attacco chimico integrated membrane 200 pM

foro centrale 6 mm - 98 fori o 3 mm

acciaio Aisi 316 - certificata alimentare
membrana integrata 200 pm

adattabile per macchine BRUGNETTI AURORA
NUOVA SIMONELLI-VICTORIA ARDUINO

NUOVA SIMONELLI NUOVA SIMONELLI




A

NUOVA SIMONELLI 6
Groy
Suitable for: Suitable for: ’
1460209 PRECISION SHOWER SCREEN ¢ 57.5 mm 1081026 SHOWER ¢ 56.5 mm

central hole 6 mm - 112 holes g 2 mm
Aisi 304 stainless steel - food-safe certified
wire diaphragm 35 pM

NUOVA SIMONELLI

NUOVA SIMONELLI 03000066

1081006

SHOWER SCREEN ¢ 51.5 mm

NUOVA SIMONELLI 40300022

1081084 SHOWER SCREEN ¢ 55 mm TY1

for coffee-pod "ESE" ¢ 44 mm

NUOVA SIMONELLI 03001431

1081087

SHOWER SCREEN ¢ 55 mm TY2
for "ESE" pod ¢ 44 mm

NUOVA SIMONELLI 03001432

1081088 SHOWER SCREEN ¢ 55 mm TY3

for "ESE" pod ¢ 44 mm

NUOVA SIMONELLI 03001433

1081003

SHOWER SCREEN ¢ 57.5 mm

NUOVA SIMONELLI 17000024

1081098 SHOWER SCREEN ¢ 57.5 mm

NUOVA SIMONELLI 03000066.C

1081016

SHOWER SCREEN ¢ 60 mm

NUOVA SIMONELLI 17010003



Suitable for:

Suitable for:

NUOVA SIMONELLI

Showerholder diffusers

1326001 SHOWER HOLDER SPRAYER

external @ 57.5 mm - height 9 mm - hole 6.5 mm

NUOVA SIMONELLI 07300183.5

1326036

NUOVA SIMONELLI

SHOWER HOLDER SPRAYER
external @ 72 mm - height 19.5 mm - hole M25

98004000

1326037 SHOWERHOLDER SPRAYER

external @ 57.5 mm - height 7 mm - hole 6.5 mm

NUOVA SIMONELLI 07300183

Solenoid valves

1120332 COIL LUCIFER/PARKER 220/240V 9W 50Hz 3120032  COIL PARKER ZB09 9W 220/240V 50/60Hz
width 32 mm - height 38 mm width 34 mm - height 33 mm
length 43 mm length 43 mm

NUOVA SIMONELLI NUOVA SIMONELLI

3120033 COIL PARKER ZB09 9W 24V 50/60Hz 3120034 FEMALE LARGE CONNECTOR
width 34 mm - height 33 mm for coils

length 43.5 mm

NUOVA SIMONELLI

NUOVA SIMONELLI

5020858 SOLENOID VALVE CEME3 WAYS @ 1/8"230V
5320 - drain ¢ 6 mm - max 6.5bar
VITON seal - orifice 2.0 mm
with coil B4 17VA 208/240V 50/60Hz
fluid temperature -10°C+140°C

L

NUOVA SIMONELLI 04100054




v NUOVA SIMONELLI

Suitable for:

Suitable for:

1120243 SOLENOID VALVEODE2 WAYS o 1/4" 230V
VITON seal - orifice # 1.5 mm

with coil BDA08223DS 220/230V 50/60Hz 12.5VA

temperature -10°C+140°C

NUOVA SIMONELLI 04100029

3120032  COIL PARKER ZB09 9W 220/240V 50/60Hz
width 34 mm - height 33 mm
length 43 mm

NUOVA SIMONELLI

1120134 SOLENOID VALVEODE2WAYS @ 1/4" 230V 8W
VITON seal - orifice 2.5 mm
with coil BDA08223DS 220/230V 50/60Hz 8W
temperature -40°C+180°C

NUOVA SIMONELLI 04100030

1120820 COILODEBDA08223DS 220/230V 50/60Hz
14.5 VA
width 30 mm - height 39 mm - length 42 mm

1120268 SOLENOID VALVEODE3 WAYS 230V 50/60Hz
TECNOPOLIMER PPS body
RUBY seal - orifice @ 1.5 mm
CONICAL connection
with coil BDV08230AY 230/240V 50/60Hz 16VA
fluid temperature -40°C +180°C
NSF approved

NUOVA SIMONELLI 04100027

1120809 SOLENOID VALVEODE3 WAYS 230V 8W
RUBY seal - orifice g 1.5 mm
TAPERED fitting
with coil B0108223DS 220/230V 50/60Hz 8W
fluid temperature -40°C +180°C

NUOVA SIMONELLI

1120040 2-WAY SOLENOID VALVE CEME g 1/4" 230V
VITON seal - orifice 2.2 mm
with coil BDA08223DS 220/230V 50/60Hz 8W
temperature -10°C+140°C

NUOVA SIMONELLI 04100003 NUOVA SIMONELLI 04100005

1120244  COIL CEME BIF-R 230V 50Hz
33x35x35.4 mm




r]\ ‘ ‘\,/
NUOVA SIMONELLI %@
Suitable or: Suitable for:
1120471 2-WAY SOLENOID VALVE CEME ¢ 1/4" 230V 1120238 2-WAY SOLENOID VALVE CEME ¢ 1/8"F 120V
6660 - max 4.5bar NICKEL PLATED CASE
VITON seal - orifice @ 3.0 mm 5220 - max 13bar
with coil B6 17VA 230V 50Hz VITON seal - orifice 2.0 mm
fluids temperature -10°C+140°C with coil B4 14VA 100/120V 60Hz
with total lock regulator fluid temperature -10°C+140°C
NUOVA SIMONELLI 04100024 NUOVA SIMONELLI 04100033 NUOVA SIMONELLI 04100043
1120012 2-WAY SOLENOID VALVE ODE ¢ 1/8" 230V 5W 1120122  COIL ODELBA05230AS 230V 5W 50/60Hz
VITON seal - orifice @ 2.3 mm width 22 mm - height 29.5 mm
coil LBA05230AS 230V 50/60Hz 5W length 27.5 mm
temperature -10°C+140°C
NUOVA SIMONELLI 04100042
1120153 2-WAY SOLENOID VALVE PARKER 110V 50/60Hz 1120336  COIL PARKER ZB09 9W 110/120V 50/60Hz
VE146YV - fittings @ 1/4"FF - max 10 bar width 34 mm - height 33 mm
VITON seal - orifice 3 mm length 43 mm
with coil ZB09 9W 110/120V 50/60Hz
fluid temperature -10°C+140°C
NUOVA SIMONELLI
1120354 2-WAY SOLENOID VALVE PARKER 230V 50/60Hz 3120032  COIL PARKER ZB09 9W 220/240V 50/60Hz

VE146NV - fittings @ 1/4"FF - max 10 bar
VITON sealing - orifice 2.5 mm

with coil ZB09 9W 220/230V 50/60Hz
fluid temperature -10°C +140°C

NUOVA SIMONELLI 04100012 NUOVA SIMONELLI 04100022

NUOVA SIMONELLI

width 34 mm - height 33 mm
length 43 mm




v NUOVA SIMONELLI

Suitable for:

Suitable for:

1120334 3-WAYMECHANICAL COMPONENTLUCIFER
E131F4304G - drain ¢ 1/8" conical - max 10 bar
RUBY seal - orifice g 1.5 mm
fluid temperature -30°C+140°C

&
NUOVA SIMONELLI

1120339  3-WAY MECHANICAL COMPONENT PARKER
VE128IR - drain @ 1/8" conical - max 10 bar
RUBY seal - orifice g 1.3 mm
fluid temperature -30°C+140°C

NUOVA SIMONELLI

1120806 3-WAY ODESOLENOID VALVE 1/8" 230V 8W
RUBY seal - hole ¢ 1,5 mm
with coil BDA08223DS 220/230V 50/60Hz 8W
thermal drilling -40°C+180°C

NUOVA SIMONELLI 04100009

1120820 COILODEBDA08223DS 220/230V 50/60Hz
14.5 VA
width 30 mm - height 39 mm - length 42 mm

1120233 3-WAY SOLENOID VALVE CEME ¢ 1/8"F 230V
STAINLESS STEEL SLEEVE
5320 - outlet@ 7 mm - max 14bar
VITON seal - orifice 1.2 mm
with coil B4 13.5VA 230V 50Hz
fluid temperature -10°C+140°C

A

NUOVA SIMONELLI 04100046

1199316  COIL CEME B4 230V 50 Hz
width 22 mm - height 30 mm
length 27.5 mm

1120102 3-WAY SOLENOID VALVELUCIFER 115V 60Hz
E131F4304 - drain @ 1/8" conical - max 10 bar
RUBY seal - orifice 1.5 mm

with coil 483510S5 9W 110/115/120V 50/60Hz

fluid temperature -40°C+140°C

A

NUOVA SIMONELLI 04100018

1120363  COIL LUCIFER 48351055 9W 115V 50/60Hz
width 32 mm - height 37.5 mm
length 43.5 mm




Suitable for:

1120334 3-WAYMECHANICAL COMPONENTLUCIFER
E131F4304G - drain @ 1/8" conical - max 10 bar
RUBY seal - orifice g 1.5 mm
fluid temperature -30°C+140°C

:
|

Suitable for:

NUOVA SIMONELLI

NUOVA SIMONELLI
1120330 3-WAY SOLENOID VALVE LUCIFER 240V 50Hz 1120332  COIL LUCIFER/PARKER 220/240V 9W 50Hz
E131F4304 - drain ¢ 1/8" conical - max 10 bar width 32 mm - height 38 mm

RUBY seal - orifice 2.5 mm length 43 mm
with coil 48351056 9W 220/240V 50/60Hz
fluid temperature -40°C+140°C
NUOVA SIMONELLI 04100017 NUOVA SIMONELLI
1120334 3-WAYMECHANICAL COMPONENT LUCIFER
E131F4304G - drain ¢ 1/8" conical - max 10 bar
RUBY seal - orifice 1.5 mm
fluid temperature -30°C+140°C
NUOVA SIMONELLI
1120101 3-WAY SOLENOID VALVE PARKER 115V 50/60Hz 1120336  COIL PARKER ZB09 9W 110/120V 50/60Hz

VE128IR - drain @ 1/8" conical - max 10 bar
RUBY seal - orifice g 1.3 mm

with coil ZB09 9W 110/120V 50/60Hz
fluid temperature -40°C+140°C

NUOVA SIMONELLI 04100018 NUOVA SIMONELLI 04100037

width 34 mm - height 33 mm
length 43 mm




Suitable for:

1120339 3-WAY MECHANICAL COMPONENT PARKER
VE128IR - drain @ 1/8" conical - max 10 bar
RUBY seal - orifice @ 1.3 mm
fluid temperature -30°C+140°C

NUOVA SIMONELLI

., NUOVA SIMONELLI

Suitable for:

1120321 3-WAY SOLENOID VALVE PARKER 230V 50/60Hz
VE141BV - drain @ 1/8" conical - fittings ¢ 1/8"F
VITON seal - orifice 2 mm
with coil ZB09 9W 220/230V 50/60Hz
fluid temperature -40°C+140°C

NUOVA SIMONELLI 04100011

3120032  COIL PARKER ZB09 9W 220/240V 50/60Hz
width 34 mm - height 33 mm
length 43 mm

NUOVA SIMONELLI

1120335 3-WAY SOLENOID VALVE PARKER 230V 50/60Hz
VE128IR - drain @ 1/8" conical - max 10 bar
RUBY seal - orifice g 1.3 mm
with coil ZB09 9W 220/230V 50/60Hz
fluid temperature -30°C+140°C

NUOVA SIMONELLI 04100038

1120339 3-WAY MECHANICAL COMPONENT PARKER
VE128IR - drain @ 1/8" conical - max 10 bar
RUBY seal - orifice ¢ 1.3 mm
fluid temperature -30°C+140°C

NUOVA SIMONELLI

3120032  COIL PARKER ZB09 9W 220/240V 50/60Hz
width 34 mm - height 33 mm
length 43 mm

NUOVA SIMONELLI




NUOVA SIMONELLI

Suitable for: Suitable for:

Spouts for coffee
1165257 SPOUT SINGLE ¢ 3/8" NANOTECH 1022522  ADJUSTABLELONG DOUBLE SPOUT ¢ 3/8"

Rivestimento antiaderente in NANOQUARZO che

aumenta la resistenza a corrosione
e da attacco chimico.
Grazie al rivestimento interno e esterno

le superfici sono completamente antiaderenti,

il flusso d acqua é costante ed uniforme.
Trattamento certificato alimentare.

NUOVA SIMONELLI

U Y

NUOVA SIMONELLI

1022523 ADJUSTABLE SHORT DOUBLE SPOUT ¢ 3/8"

NUOVA SIMONELLI

1022504  CLOSED SINGLE SPOUT ¢ 3/8"

NUOVA SIMONELLI

1022502 DOUBLESPOUT ¢ 3/8"

NUOVA SIMONELLI 06200008

1022524  DOUBLE SPOUT 0 3/8"

i

NUOVA SIMONELLI 07300212

1022521 LONG DOUBLE SPOUT ¢ 3/8"

NUOVA SIMONELLI

1022501  SINGLESPOUT ¢ 3/8"

NUOVA SIMONELLI 07300092

1022550 SINGLE SPOUT ¢ 3/8"

>

NUOVA SIMONELLI 07300211

1022506 SPOUTDOUBLE ¢ 3/8"

NUOVA SIMONELLI 06200008




c\‘ f

)| ‘/‘P

v

Suitable for:

NUOVA SIMONELLI

Suitable for:

1165256 SPOUTDOUBLE ¢ 3/8" NANOTECH

1022059  SPOUTSINGLE ¢ 3/8"

Rivestimento antiaderente in NANOQUARZO che

aumenta la resistenza a corrosione
e da attacco chimico.
Grazie al rivestimento interno e esterno

le superfici sono completamente antiaderenti,

il flusso d acqua e costante ed uniforme.
Trattamento certificato alimentare.

——

NUOVA SIMONELLI

NUOVA SIMONELLI 07300092

1022503 STRAIGHT SINGLE SPOUT g 3/8" 1022551  TRIPLESPOUT ¢ 3/8"
24>7 ’%
/-'// 3 ,
[
ot i
NUOVA SIMONELLI NUOVA SIMONELLI
5031337 1-CUPSTRAIGHT SHORT SPOUT ¢ 3/8"

]

e

NUOVA SIMONELLI 40702006

Springs

1250532  ARTICULATION SPRING 20.4x15.9x16.5 mm

NUOVA SIMONELLI 08000013

1250531  SPRING ¢ 11.5x25mm

MMV

NUOVA SIMONELLI 08000005

1250019 SPRING ¢ 12x16.5 mm

W

NUOVA SIMONELLI 08000027

NUOVA SIMONELLI 08000049

1250318  SPRING ¢ 8x14.5 mm

for mushroom valve

NUOVA SIMONELLI 08000062




Suitable for:

NUOVA SIMONELLI

Suitable for:

Steam taps and spares for coffee mach.

1321601 COMPLETE GASKET HOLDER FOR TAP

NUOVA SIMONELLI 07300034 NUOVA SIMONELLI 98008004

5027943  COMPLETE STEAM TAP

NUOVA SIMONELLI 73006010

1348061 COMPLETE STEAM TAP RH-LH

NUOVA SIMONELLI 98006020

1349031 COUPLING 3/8"¢ SPRING HOLDER

for tap water/steam

NUOVA SIMONELLI 07300110

1349516 NUT ¢ 3/8"F FORWATER/STEAM PIPE
nut 22 mm - height 21 mm - hole 12.5 mm

o O

NUOVA SIMONELLI NUOVA SIMONELLI 01000102

1449840 NUT ¢ 3/8"FFORWATER/STEAM PIPE
nut 22 mm - height 21 mm - hole 12.5 mm

-

| -

NUOVA SIMONELLI 07300295

1348364 STEAM TAP ASSEMBLY

connections ¢ 3/8"

NUOVA SIMONELLI 75006031 NUOVA SIMONELLI 75006032

1186988 STEAM TAP JOINTBUSHING
external @ 12/8.5 mm - internal 7 mm
thickness 6/3 mm

"
-

NUOVA SIMONELLI 07300293

1348038 TAPBODY

NUOVA SIMONELLI 07300354

1348040 TAPFORK

NUOVA SIMONELLI 07300108 NUOVA SIMONELLI 07300355

1348261 TAP WATER/STEAM

NUOVA SIMONELLI 98006020



&

Suitable for:

NUOVA SIMONELLI

Suitable for:

Steam-water pipes coffee machines

1549027 COMPLETE STAIN.STEEL STEAM PIPEg 10 mm

pipe length 295 mm

N

&

©e

NUOVA SIMONELLI 75006060

1449032 COMPLETE WATER PIPE

lunghezza totale 125 mm

NUOVA SIMONELLI 98007007 NUOVA SIMONELLI 98007008

1449210 COMPLETE WATER PIPE

NUOVA SIMONELLI 78007001

1549004 COMPLETE WATER PIPE

O w

NUOVA SIMONELLI 98007009

1449868 COMPLEYE S/STEEL WATERPIPE@ 10 mm

NUOVA SIMONELLI 75006019 NUOVA SIMONELLI 80007005

1449065 NOZZLEFORSTEAM OUTLET /STAINLESS STEEL

NUOVA SIMONELLI 75006038

1449036 NOZZLEFORWATER

NUOVA SIMONELLI 82007003

5051782  ST.STEEL STEAM NOZZLE8.5mmg 1.2 mm
4 holes

NUOVA SIMONELLI 75006038.1

1383001 STEAM NOZZLE

NUOVA SIMONELLI 07300030 NUOVA SIMONELLI 98006802

1383002 STEAM NOZZLE

NUOVA SIMONELLI 75006015

1449033 STEAM PIPE COMPLETE

NUOVA SIMONELLI 78006005

1449866  STEAM PIPE COMPLETE

Q\

NUOVA SIMONELLI 78006001




b
NUOVA SIMONELLI %
Suitable or: Suitable for:
1449869 STEAM PIPE COMPLETE 5085860 TUBO VAPORE COMPLETO INOX ¢ 10 mm

sviluppo tubo 295 mm - cool touch

NUOVA SIMONELLI 75006012 NUOVA SIMONELLI 75006017 NUOVA SIMONELLI 75006037 NUOVA SIMONELLI KLVCT001 NUOVA SIMONELLI 98006070
NUOVA SIMONELLI 75006037.1

1449034 WATERPIPE

NUOVA SIMONELLI 78007005

Switches
3319154 BIPOLARSWITCH BLACK 16A 250V 3319780 BLOCKCONNECTION WHITE 22x30 mm
16(4)A 250V - max. temperature 120°C
with push-button cap - silk screen printing O - |
mounting hole 22x30 mm
—— 4
~*
_ " 4
-~
NUOVA SIMONELLI 16200027 NUOVA SIMONELLI 16300119
3319779 BLOCK CONNECTIONS BLACK 22x30 mm 3319782  FRAME SAFETY 2 SIDES BLACK 22x30 mm
3319783 FRAME SAFETY 4 SIDES BLACK 22x30 mm 3319501 PUSH-BUTTON PROTECTION CAP

external dimensions 29x36 mm
for switches with mounting hole 22x30 mm

O




.y NUOVA SIMONELLI

Suitable for: Suitable for:

3319934 BIPOLARSWITCH ORANGE 16A 250V 3319780 BLOCKCONNECTION WHITE 22x30 mm
16(4)A 250V - max. temperature 120°C
with indicator lamp - silk screen printing O - |
mounting hole 22x30 mm

o &

o e
@ L
&

NUOVA SIMONELLI 15010045

3319779 BLOCKCONNECTIONS BLACK 22x30 mm 3319782  FRAME SAFETY 2 SIDES BLACK 22x30 mm
3319783 FRAME SAFETY 4 SIDES BLACK 22x30 mm 3319501 PUSH-BUTTON PROTECTION CAP

external dimensions 29x36 mm
for switches with mounting hole 22x30 mm

U

3319019 BIPOLARSWITCH RED 16A 250V 3319780 BLOCKCONNECTION WHITE 22x30 mm

16(4)A 250V - max. temperature 120°C
with indicator lamp - mounting hole 22x30 mm

o &
b
%3
P
\/ ’ .
*>

NUOVA SIMONELLI 04200011

3319779 BLOCKCONNECTIONS BLACK 22x30 mm 3319782  FRAME SAFETY 2 SIDES BLACK 22x30 mm
3319783 FRAME SAFETY 4 SIDES BLACK 22x30 mm 3319501 PUSH-BUTTON PROTECTION CAP

external dimensions 29x36 mm
for switches with mounting hole 22x30 mm

O




Suitable for:

NUOVA SIMONELLI

Suitable for:

3319420 BIPOLARSWITCH RED 16A 250V
with indicator lamp
mounting hole 22x27 mm

¢

NUOVA SIMONELLI 04200030

3319251 BIPOLARSWITCH WHITE 16A 250V
16(4)A 250V - max. temperature 120°C

3319780 BLOCK CONNECTION WHITE 22x30 mm

with indicator lamp - mounting hole 22x30 mm

NUOVA SIMONELLI 04200110

3319779 BLOCK CONNECTIONS BLACK 22x30 mm

3319783 FRAME SAFETY 4 SIDES BLACK 22x30 mm

U

3319782  FRAME SAFETY 2 SIDES BLACK 22x30 mm

3319501  PUSH-BUTTON PROTECTION CAP

external dimensions 29x36 mm
for switches with mounting hole 22x30 mm

1319092 BIPOLARSWITCH 16A 250V

NUOVA SIMONELLI 04200051

1319392  BLACKBIPOLAR SWITCH 10A 250V
mounting hole 22x20 mm
silk-screen printing "0-1"

NUOVA SIMONELLI 04200057




Suitable for:

NUOVA SIMONELLI

Suitable for:

3319294 BLACKBIPOLAR SWITCH 16A 250V
16(4)A 250V - with red led indicator light
mounting hole 22x30 mm

NUOVA SIMONELLI 15000058

3319501 PUSH-BUTTON PROTECTION CAP
external dimensions 29x36 mm
for switches with mounting hole 22x30 mm

5048198 BUTTONFORPUSH-BUTTON PANEL

g N
i \
\)
NUOVA SIMONELLI 04900707.S

1390101  CIRCUITBOARD 6 BUTTONS

dimensions 148x58 mm.

NUOVA SIMONELLI 04900112

5032626 PUSH-BUTTON PANEL 3 BUTTONS SERVICES

NUOVA SIMONELLI 04900737

5031554 PUSH-BUTTON PANEL 5 BUTTONS

NUOVA SIMONELLI 04900706

5041947 PUSH-BUTTON PANEL 5BUTTONS

REEEE

NUOVA SIMONELLI 04900706.S

5032627 PUSH-BUTTON PANEL 5 BUTTONS DELIVERY

NUOVA SIMONELLI 04900738

3319421 RED BIPOLARPUSHBUTTON 16A 250V

mounting hole 22x27 mm

NUOVA SIMONELLI 04200032




NUOVA SIMONELLI
Suitable or: Suitable for:
3319948 RED BIPOLARSWITCH 16A 250V 3319151  SWITCHPROTECTION CAP
16(4)A 250V - with indicator light o external 34 mm
max temperature 120°C for push-buttons with mounting hole 25 mm

mounting hole g 25 mm

NUOVA SIMONELLI 04200039

Tampers for coffee

1385002 NYLON COFFEE TAMPER ¢ 50/57 mm

NUOVA SIMONELLI 05080035 NUOVA SIMONELLI 98011000
Terminal blocks
3247016 3-POLETERMINAL BLOCK FV273 40A 450V 3247037  4-POLETERMINAL BLOCK FV173 40A 600V
for cable max 6 mm?2 for cable max 6 mm?2
operating temperature 150°C operating temperature 150°C
nominal voltage 450 V nominal voltage 450 V

NUOVA SIMONELLI 04000310 NUOVA SIMONELLI 15320065

Thermocouples and accessories

3440051 THERMOCOUPLE SITM8x132 ¢cm.THREAD M8x1 3440064 NUTFORTHERMOCOUPLE M8x1

NUOVA SIMONELLI 09600013

3440851 THERMOCOUPLE SIT M8x132cm-10PCS.
CONNECTOR M8x1

T R —
'iﬁa_



)
( \E/‘

v NUOVA SIMONELLI

Suitable for: Suitable for:

Thermoprotections

5031150 TERMOFUSIBILE 167°C 16A 250V UL

NUOVA SIMONELLI 09500014

Thermostats

5039982 THERMOSTAT SINGLE PHASE 85°-135°C

D-shaft ¢ 6x4.6 mm

capillary length 950 mm - 20A 240V

bulb @ 6x75 mm - with stuffing gland fitting 1/4"
NUOVA SIMONELLI 40901001

Tools

1505002 EXTRACTORFORFILTER S.STEEL WITH HOLE 3394906 TELESCOPICKIT ¢ 30x165 mm

extension overall length 485 mm

o”_ o
NUOVA SIMONELLI NUOVA SIMONELLI

Vibrating pumps
1331023  SQUARE DAMPER EX-EP-EK-EA 1122601  VIBRATORY PUMP EX5 41W 120V 60Hz

fittings ¢ 1/8"- @ 6 mm
pressure max 15 bar

water temperature max 20°C
integrated diode (1N 4007P)
lead connector 6.3x0.8 mm
NSF-approved

-
R,

NUOVA SIMONELLI 05180005 NUOVA SIMONELLI 04800006




NUOVA SIMONELLI
Suitable or: Suitable for:
1122735 VIBRATORY PUMP EX548W 230V 50Hz 1349652 90°FITTING ¢ 1/8 F

fittings ¢ 1/8"- 9 6 mm
pressure max 15 bar

water temperature max 20°C
integrated diode (1N 4007P)
lead connector 6.3x0.8 mm

NUQOVA SIMONELLI 04800005 NUOVA SIMONELLI 07300369

Water containers for OCS HORECA
1080161 WATERCONTAINER2L 1080169 WATERCONTAINERS5 L WITH FLOAT
NUOVA SIMONELLI 05000178 NUOVA SIMONELLI 73004010 NUOVA SIMONELLI 05000755 NUOVA SIMONELLI 98200000000022

Water softeners and accessories

3010001 MANUAL WATER SOFTENERS8 L ¢ 3/8" 3010023 BLACKBASEFORGS WATER SOFTENER
for water treatment for TECHNICAL purposes
STAINLESS STEEL cylinder capacity 8 L
connection 3/8"
dimensions: height 400 mm - ¢ 185 mm
resin content 5.8 L
regeneration salt(NaCl-table salt)1 Kg

NUOVA SIMONELLI

3010018 GASKETFORWATER SOFTENERLID 3010021 INLETFILTER
OR @ 74x6.5 mm for DVA models
O W)

3010084 KNOBFORWATER SOFTENER CAP 3010019  LID HANDLE

¥

for DVA models

X




/

\\K ‘
) /(\
A NUOVA SIMONELLI

Suitable for: Suitable for:

3010022 OUTLETFILTER 3010014 PIPEFITTING ¢ 3/8"Fx3/4"M
for DVA models for DVA models
fittings 3/8" - external 8 73 mm

A‘_m
@)

3010016 PLASTICJET M6 3010015  PLASTICTAP HANDLE
for DVA models for DVA models

3010299 SALEPERADDOLCITOREIN PASTIGLIE 10 Kg 3010300 SALTFORWATER SOFTNERIN TABLETS 25 Kg
per trattamento acqua uso TECNICO FOR WATER SOFTENING SYSTEMS
capacita bombola INOX 8 L
attacco allacciamento 3/8"
dimensioni: altezza 400 mm - ¢ 185 mm
resina contenuta 5,8 L
sale per rigenerazione(NaCl-sale da cucina)1 Kg

NUOVA SIMONELLI NUOVA SIMONELLI

3010012 TAPg3/4" 3010011  WATERINLET TAP ¢ 3/8"

for models DVA for DVA models
for DISHWASHERS

3010080 WATERSOFTENERLID ASSEMBLY
for DVA models




Suitable for:

\
NUOVA SIMONELLI %

Suitable for:

3010161 MANUAL WATER SOFTENERS L ¢ 3/8"
for water treatment for TECHNICAL purposes
plasma welding
STAINLESS STEEL cylinder capacity 8 L
connection 3/8"
dimensions: height 400 mm - ¢ 185 mm
resin content 5.8 L
regeneration salt(NaCl-table salt)1 Kg
inlet water maximum temperature 60°C

NUOVA SIMONELLI

3010018 GASKETFORWATER SOFTENERLID
OR @ 74x6.5 mm

O

3010015 PLASTICTAP HANDLE
for DVA models

T

3010299 SALEPERADDOLCITOREIN PASTIGLIE 10 Kg
per trattamento acqua uso TECNICO
saldatura al plasma
capacita bombola INOX 8 L
attacco allacciamento 3/8"
dimensioni: altezza 400 mm - @ 185 mm
resina contenuta 5,8 L
sale per rigenerazione(NaCl-sale da cucina)1 Kg
temperatura massima acqua di entrata 60°C

NUOVA SIMONELLI

3010119 TAPg3/8"

for GS models

Mpsiiic

3010123  BASISFORWATER SOFTNER GS

3010016  PLASTICJET M6
for DVA models

3010112 RESINSL
5 litre bag

NUOVA SIMONELLI

3010300 SALTFORWATER SOFTNER IN TABLETS 25 Kg
FOR WATER SOFTENING SYSTEMS

NUOVA SIMONELLI

3010114  WATERSOFTENER S/STEEL LID ASSEMBLY

for GS models




(\» | / )(:

v NUOVA SIMONELLI
Suitable for: Suitable for:
3010112 RESINSL 3010299  SALEPERADDOLCITOREIN PASTIGLIE 10 Kg
5 litre bag PER IMPIANTI DI ADDOLCIMENTO ACQUA

NUOVA SIMONELLI

NUOVA SIMONELLI

3010300 SALT FORWATER SOFTNER IN TABLETS 25 Kg
FOR WATER SOFTENING SYSTEMS

NUOVA SIMONELLI




The data herewith contained may change without notice and LF SpA cannot be
held responsible for possible errors stated or resulting by the use of this document.
All rights reserved. No part of this publication may be reproduced without written
permission by LF SpA.

Distributing Components, Spare Parts & Accessories
in original quality worldwide

LF SpA HEADQUARTERS

via Voltri, 80 - 47522 Cesena (FC) ITALY

Tel. +390547 34 11 11 -Fax+390547 3411 10
www.lfricambi724.it -info@lfricambi.it

Export Dept. Tel. +39 0547 34 11 50 - Fax +39 0547 34 11 55
www.lfspareparts724.com - export@lfspareparts.com

LF SpA HOUSEHOLD COMPONENTS DIVISION

Via Padriciano, 99 - AREA Science Park - 34149 Trieste (TS) ITALY
Tel. +39 0547 34 12 42 - Fax +39 0547 34 12 48
www.lfspareparts724.com - info@lfspareparts.com

EPGC Sas FRANCE

13, Rue des Forts - 59960 Neuville en Ferrain

Tel. +33 (0)3 20 2506 21 - Fax +33 (0)3 202534 12
WWW.epgc.com - epgc@epge.com

LF GmbH GERMANY

Junkersstrasse, 3 - D-82178 Puchheim - Miinchen
Tel. +49 89 89 45 78 66 - Fax +49 89 89 4578 88
www.lfersatzteile724.de - info@lfersatzteile.de

LF China REPUBLIC OF CHINA

Room 403, No.2, Huadu Mansion, Lane 422, Huanghua Rd.
Minhang Dist. - 201103 Shanghai

Tel. +86 (0)21 33 53 66 31 - Fax +86 (0)21 33 53 66 32
www.lfspareparts724.com - china@lIfspareparts.com

000 LF RUSSIAN FEDERATION

Ul. Anatoliya Zhivova, 8 - office 1 - 123100 Moscow
Tel./Fax +7 495725 26 53
www.lfspareparts724.ru - info@lfspareparts.ru

AUSTRALIA AND NEW ZEALAND
www.Ifspareparts724.com
andrea.calvio@lfspareparts.com

AUSTRIA
www.Ifersatzteile724.at
info@lfersatzteile.at

BALKAN COUNTRIES
www.lfspareparts724.com
matija.ramov@lfspareparts.com

BALTIC COUNTRIES
www.Ifspareparts724.com
inara.silina@lfspareparts.com

@ LF Repuestos Horeca S.L.U. SPAIN

Poligono Industrial Carpetania - C/Miguel Faraday, 8 - 28906 Getafe
Tel. +34 91 477 91 00 - Fax +34 91 477 90 81
www Ifrepuestos-horeca724.es - info@lfrepuestos.es

LF Scandinavia Aps - LF Spareparts S.p.A. DENMARK
Nupark, 51 - 7500 Holstebro

Tel. +457070 77 33

www lfspareparts724.dk - denmark@lfspareparts.dk

LF SpA Cesena (IT) Swiss Branch Steinhausen SWITZERLAND
Sennweidstrasse, 45 - CH-6312 Steinhausen

Tel. +41 (0)41 760 15 80/1 - Fax +41 (0)41 760 1585

www .Ifersatzteile724.ch - info@lfersatzteile.ch

LF Spare Parts Ltd. UNITED KINGDOM

A10a Lakeside Business Park, Broadway Lane

South Cerney, Gloucestershire GL7 5XL

Tel. +44 (0)1285 86 16 25 - Fax +44 (0)1285 86 39 49
www.lfspareparts724.co.uk - info@lfspareparts.co.uk

LF Central Est Europe S.r.0. CZECH REPUBLIC
Antala Staska 1859/34

14000 Praha 4 - KRC

Tel. +420730 156 910

www.lfspareparts724.cz - info@lfspareparts.cz

LF SPARE PARTS INC. USA

Legal address:

155 Office Plaza Dr - Suite A - Tallahassee, FL 32301
Business/Mailing address:

1100 South Tower, 225 Peachtree St., N.E. - Atlanta, GA 30303, USA
Tel. +1-404-525-2600 - Fax +1-404-586-3528
www.lfspareparts724.us - info@Ifspareparts.us

Tel. West Coast and Midwest: 206-349-1525 Sauro

Tel. East Coast and the Caribbean: 786-817-1764 Luis

LATIN AMERICA AND THE CARRIBEANS
www.|frepuestos-horeca724.es
export@lfrepuestos.es

POLAND
www.lfspareparts724.pl
info@lIfspareparts.pl

SOUTH KOREA
www.lfspareparts724.com
fabio.doni@lfspareparts.com

TURKEY
www.Ifyedekparca724.com
export@lfspareparts.com



	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2

